
 ALL HOLES ARE 1316/ Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

8 - BRACE ANGLES - BR1

19994 33641 919411

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

BR1 8

BR1 8 L3X3X1/4 1'-10 7/16" 73 MILL FINISH w A36

SQ-2BRACE ANGLES

TOTAL WEIGHT THIS DRAWING 73

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

DESCRIPTION

PROJECT NAME

DRAWN BY

DATE DRAWN

JOB No. DRG No.

.

BRACE ANGLE

BLVD PUB & GRUB

01/03/2016 BLVD BR1

L3X3X14/  x 1'-10716/

BR1
L3X3X14/

1'
-5

11
16/

3 134/134/ 3

1
3

4/

43
4/

RD 1'
-8

11
16/



 ALL HOLES ARE 1316/ Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

4 - BRACE ANGLES - BR2

19691 33621 821815

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

BR2 4

BR2 4 L3X3X1/4 1'-8 3/16" 33 MILL FINISH w A36

SQ-2BRACE ANGLES

TOTAL WEIGHT THIS DRAWING 33

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

DESCRIPTION

PROJECT NAME

DRAWN BY

DATE DRAWN

JOB No. DRG No.

.

BRACE ANGLE

BLVD PUB & GRUB

01/03/2016 BLVD BR2

L3X3X14/  x 1'-8316/

BR2
L3X3X14/

13
4/

1'
-3

7
16/

134/ 3 3 134/

4
3

4/

RD 1'
-6

7
16/



 ALL HOLES ARE 1316/ Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

4 - BRACE ANGLES - BR3

20024 32376 924009

BILL OF MATERIAL
MARK QTY DESCRIPTION LENGTH WEIGHT REMARKS

BR3 4

BR3 4 L3X3X1/4 1'-9 9/16" 35 MILL FINISH w A36

SQ-2BRACE ANGLES

TOTAL WEIGHT THIS DRAWING 35

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

DESCRIPTION

PROJECT NAME

DRAWN BY

DATE DRAWN

JOB No. DRG No.

.

BRACE ANGLE

BLVD PUB & GRUB

01/27/2016 BLVD BR3

L3X3X14/  x 1'-9916/

BR3
L3X3X14/

13
4/

134/ 3 3 134/

1'
-4

13
16/

43
4/

RD 1'
-7

13
16/



PLEASE VERIFY
3- 34/ Ø  HILTI
KB3 IF ACCEPTABLE

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

GRID LOCATION BOTTOM ELEV.

4-5/A> 100'-0"

ONE - COLUMN - C1

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

C1 1 HSS4X4X1/4 10 3/4"10

bp1-5 1 FL3/4"X9" 9"0

wp16 1 FL1/2"X8" 8"0

wp46 1 PL3/8"X8" 10"0

wp96 1 FL3/8"X8" 10"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
C1

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

19720 32168 17719441

E
L1

00
'-0

E
L1

11
'-0

1
2

12

318/

518/

9'-838/

R
D

3

1
2/

S
Q

. C
U

T
3

4/
S

Q
. C

U
T

11
'-0

 (
H

S
S

4X
4X

1
4/
 x

 1
0'

-1
0

3
4/
)

2 2

CC

D

D

wp46 (N/S)

wp96 (F/S)

14/

14/

AA

BB

bp1-5

wp16

C
1

(
W

e
st

)
H

S
S

4
X

4
X

1
4/

1
2/

5
1

2/

12/ 512/

C
L

CL
3 - 78/ "Ø

bp1-5

A - A

3
4/

13
4/

34/ 134/

312/

31
2/

CL

CLwp16

B - B

2 2

9'-838/

R
D

1
2

12

318/

518/

3

wp16

wp46 (F/S)

bp1-5

wp96 (N/S)

D - D

158/

1
5

8/

14/
0"

14/

wp46

wp96

C - C



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

GRID LOCATION BOTTOM ELEV.

5/G 98'-0"

ONE - GATE POST - C11

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

C11 1 HSS1-1/2X1-1/2X1/8 11 3/4"5

w9 1 FL1/8"X2" 5"0

wp6 1 FL1/4"X1 1/2" 1 1/2"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
C11

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR COAT

327 30809 1523107

5

E
L9

8'
-0

E
L1

04
'-0

34/ 34/

6'
-0

 (
H

S
S

1-
1

2/
X

1-
1

2/
X

1
8/
 x

 5
'-1

1
3

4/
)

5'
-1

1
3

4/
1

4/

5'-112/

R
D

AA

0"

w9

wp6
(CTR'D)

C
1

1
(

S
o

u
th

)
H

S
S

1
-1

2/
X

1
-1

2/
X

1
8/

1
4/

1
3

4/

34/ 34/

58/

wp6

18/
3 SIDES.

18/ 0"

w9

A - A



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

GRID LOCATION BOTTOM ELEV.

5/F 98'-0"

ONE - GATE POST - C12

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

C12 1 HSS1-1/2X1-1/2X1/8 11 3/4"5

wp6 1 FL1/4"X1 1/2" 1 1/2"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
C12

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR COAT

1299 30792 1423108

5'
-1

1
3

4/
1

4/

34/ 34/

6'
-0

 (
H

S
S

1-
1

2/
X

1-
1

2/
X

1
8/
 x

 5
'-1

1
3

4/
)

E
L9

8'
-0

E
L1

04
'-0

0"

wp6
(CTR'D)

C
12

(
S

ou
th

)
H

S
S

1
-1

2/
X

1
-1

2/
X

1
8/



PLEASE VERIFY
3- 34/ Ø  HILTI
KB3 IF ACCEPTABLE

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

GRID LOCATION BOTTOM ELEV.

4-5/A> 100'-2"1/8

ONE - COLUMN - C2

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

C2 1 HSS4X4X1/4 8 5/8"10

bp1-2 1 FL3/4"X9" 9"0

wp16 1 FL1/2"X8" 8"0

wp46 1 PL3/8"X8" 10"0

wp96 1 FL3/8"X8" 10"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
C2

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

20767 32195 17419441

1
2

12

3

518/

318/

22

E
L1

00
'-2

1
8/

E
L1

11
'-0

10
'-9

7
8/
 (

H
S

S
4X

4X
1

4/
 x

 1
0'

-8
5

8/
)

3
4/

S
Q

. C
U

T
1

2/
S

Q
. C

U
T

9'-614/

R
D

CC

14/

14/

D

D

BB

AA

C
2

(
W

e
st

)
H

S
S

4
X

4
X

1
4/

wp16

bp1-2

wp46 (F/S)

wp96 (N/S)

1
1

2/
1

1
2/

112/ 112/

12/ 512/

9

9

1
2/

5
1

2/

CL

C
L

bp1-2

3 - 78/ "Ø

A - A

13
4/

3
4/

1
1

2/
31

2/

312/ 112/

34/ 134/

CL

CL

wp16

B - B

2 2

3
1

2

12

518/

318/

9'-614/
R

D

bp1-2

wp16

wp96 (N/S)

wp46 (F/S)

D - D

158/

1
5

8/

14/
0"

14/

wp96

wp46

C - C



PLEASE VERIFY
4- 34/ Ø  HILTI
KB3 IF ACCEPTABLE

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

GRID LOCATION BOTTOM ELEV.

4-5/A> 100'-0"

ONE - COLUMN - C3

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

C3 1 HSS4X4X1/4 10 3/4"10

bp1-1 1 FL3/4"X10" 10"0

wp14 1 FL1/2"X7" 8 1/2"0

wp46 1 PL3/8"X8" 10"0

wp96 1 FL3/8"X8" 10"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
C3

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

19722 32124 18022075

318/

518/

12

12

3

22

E
L1

00
'-0

E
L1

11
'-0

11
'-0

 (
H

S
S

4X
4X

1
4/
 x

 1
0'

-1
0

3
4/
)

3
4/

S
Q

. C
U

T
1

2/
S

Q
. C

U
T

9'-838/
R

D

CC

14/

14/

D

D

BB

AA

C
3

(
W

e
st

)
H

S
S

4
X

4
X

1
4/

wp14

bp1-1

wp96 (F/S)wp46 (N/S)

1
1

2/
1

1
2/

112/ 112/

312/ 312/
6

1

CL

C
L

bp1-1

4 - 1 516/ "Ø

A - A

3
4/

13
4/

238/ 18/

31
2/

4

CL

CL

wp14

B - B

2 2

12

12

318/

518/

3

9'-778/

R
D

wp14

wp46 (N/S)

bp1-1

wp96

D - D

1

15
8/

14/
14/14/

0"

14/

wp46

wp96

C - C



PLEASE VERIFY
4- 34/ Ø HILTI KB3 
IF ACCEPTABLE

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

GRID LOCATION BOTTOM ELEV.

4-5/A> 100'-1"1/2

ONE - COLUMN - C4

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

C4 1 HSS4X4X1/4 9 1/4"10

bp1-4 1 FL3/4"X9" 10"0

wp46 1 PL3/8"X8" 10"0

wp96 1 FL3/8"X8" 10"0

wp98 1 FL1/2"X7" 8 1/2"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
C4

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

20766 32163 17622074

1
2

12

3

9'-678/

R
D

318/

518/

22

E
L1

00
'-1

1
2/

E
L1

11
'-0

10
'-1

0
1

2/
 (

H
S

S
4X

4X
1

4/
 x

 1
0'

-9
1

4/
)

3
4/

S
Q

. C
U

T
1

2/
S

Q
. C

U
TCC

14/

14/

D

D

BB

AA

C
4

(
W

e
st

)
H

S
S

4
X

4
X

1
4/

wp98

bp1-4

wp46 (F/S)

wp96 (N/S)

1
1

2/

112/ 112/

1
1

2/

312/ 312/
1

2/
5

1
2/

CL

C
L

bp1-4

4 - 78/ "Ø

A - A

112/ 4

11
2/

3
1

2/

1
3

4/
3

4/

238/ 18/

CL

CL

wp98

B - B

2 2

1
2

12
3

318/

518/

9'-638/
R

D

bp1-4

wp98

wp96

wp46 (N/S)

D - D
15

8/

1

14/
0"

14/ 14/
14/

wp96

wp46

C - C



PLEASE VERIFY
4- 34/ Ø  HILTI
KB3 IF ACCEPTABLE

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

GRID LOCATION BOTTOM ELEV.

5>/A> 100'-0"

ONE - COLUMN - C5

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

C5 1 HSS4X4X1/4 9 3/4"6

bp1-1 1 FL3/4"X10" 10"0

wp96 2 FL3/8"X8" 10"0

wp102 1 FL1/2"X8" 8"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
C5

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

19765 31499 12924034

6'
-1

1 
(H

S
S

4X
4X

1
4/
 x

 6
'-9

3
4/
)

E
L1

00
'-0

E
L1

06
'-1

1

1
2/

S
Q

. C
U

T

1
2

12

318/

518/

5'-678/

R
D

3

3
4/

S
Q

. C
U

T

2 2

14/

14/

AA

BB D

D

CC

wp96 (N/S)

wp96 (F/S)

bp1-1

wp102

C
5

(
W

e
st

)
H

S
S

4
X

4
X

1
4/

112/ 112/

1
1

2/
11

2/

1
6

312/ 312/

C
L

CL
4 - 1 516/ "Ø

bp1-1

A - A

312/

31
2/

34/ 134/

1
2/

2

CL

CL
wp102

B - B

22

1
2

12

3

318/

518/

5'-678/

R
D

wp102

wp96 (F/S)

bp1-1

wp96

D - D

1
1

4/

158/

14/
14/

14/
0"

14/

wp96

wp96

C - C



PLEASE VERIFY
4- 34/ Ø HILTI KB3 
IF ACCEPTABLE

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

GRID LOCATION BOTTOM ELEV.

5>/A> 100'-0"3/8

ONE - COLUMN - C6

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

C6 1 HSS4X4X1/4 9 3/8"6

bp1-4 1 FL3/4"X9" 10"0

wp7 1 FL1/2"X8" 8"0

wp96 2 FL3/8"X8" 10"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
C6

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

20762 31521 12624034

1
2

12

3

1
2/

S
Q

. C
U

T

5'-612/

R
D

3
4/

S
Q

. C
U

T

6'
-1

0
5

8/
 (

H
S

S
4X

4X
1

4/
 x

 6
'-9

3
8/
)

E
L1

06
'-1

1
E

L1
00

'-0
3

8/

2 2

518/

318/

14/

14/

AA

BB

D

D

CC

wp96 (F/S)

wp96 (N/S)

bp1-4

wp7

C
6

(
W

e
st

)
H

S
S

4
X

4
X

1
4/

112/ 112/

1
1

2/
11

2/
312/ 312/

5
1

2/
1

2/

C
L

CL

4 - 78/ "Ø

bp1-4

A - A

1
1

2/
31

2/

312/ 112/

13
4/

3
4/

34/ 134/

CL

CL

wp7

B - B

22

1
2

12
3

518/

318/

5'-612/

R
D

wp7

wp96 (F/S)

bp1-4

wp96

D - D

1
5

8/

158/

14/
0"

14/

wp96

wp96

C - C



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

GRID LOCATION BOTTOM ELEV.

5>/A> 99'-11"13/1

ONE - COLUMN - C7

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

C7 1 HSS4X4X1/4 9 15/16"6

bp1-4 1 FL3/4"X9" 10"0

wp61 1 FL1/2"X7" 8"0

wp96 2 FL3/8"X8" 10"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
C7

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

19754 31504 12625080

1
2

12

518/

318/

3

E
L9

9'
-1

1
1

3
1

6
/

E
L1

06
'-1

1

1
2/

S
Q

. C
U

T

5'-7116/

R
D

3
4/

S
Q

. C
U

T

6'
-1

1
3

1
6

/
 (

H
S

S
4X

4X
1

4/
 x

 6
'-9

1
5

1
6

/
)

2 2

CC

14/

14/ AA

BB D

D

wp96 (N/S)

wp96 (F/S)

bp1-4

wp61

C
7

(
W

e
st

)
H

S
S

4
X

4
X

1
4/

3
1

2/
31

2/

11
2/

1
1

2/

112/ 112/

512/ 12/

PLEASE VERIFY
4- 34/ Ø  HILTI
KB3 IF ACCEPTABLE

C
L

CL
4 - 78/ "Ø

bp1-4

A - A

3
1

2/
11

2/

112/ 312/

1
2/

2

134/ 34/

CL

CL

wp61

B - B

22

1
2

12

3

5'-7116/

R
D

518/

318/

wp61

wp96 (N/S)

bp1-4

wp96

D - D
1

1
4/

158/

14/
14/

14/
0"

14/

wp96

wp96

C - C



PLEASE VERIFY
3- 34/ Ø  HILTI
KB3 IF ACCEPTABLE

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

GRID LOCATION BOTTOM ELEV.

5>/A> 99'-11"13/1

ONE - COLUMN - C8

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

C8 1 HSS4X4X1/4 9 15/16"6

bp1-3 1 FL3/4"X9" 9"0

wp7 1 FL1/2"X8" 8"0

wp96 2 FL3/8"X8" 10"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
C8

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

20763 31530 12525081

1
2

12

3

1
2/

S
Q

. C
U

T

318/

5'-7116/

R
D

518/

3
4/

S
Q

. C
U

T

6'
-1

1
3

1
6

/
 (

H
S

S
4X

4X
1

4/
 x

 6
'-9

1
5

1
6

/
)

E
L1

06
'-1

1
E

L9
9'

-1
1

1
3

1
6

/

2 2

C
8

(
W

e
st

)
H

S
S

4
X

4
X

1
4/

14/

14/

AA

BB D

D

wp96 (N/S)

wp96 (F/S)

bp1-3

wp7

112/ 112/

512/ 12/

51
2/

1
2/

1
1

2/
1

1
2/

C
L

CL
3 - 78/ "Ø

bp1-3

A - A

1
1

2/
31

2/

112/ 312/

134/ 34/

13
4/

3
4/

CL

CL

wp7

B - B

22

1
2

12
3

318/

518/

5'-7116/

R
D

wp7

wp96 (F/S)

bp1-3

wp96 (N/S)

D - D

1
5

8/

158/

14/
0"

14/

wp96

wp96

C - C



PLEASE VERIFY HSS IF
THICKNESS IS ACCEPTABLE

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

7 - DRINK RAILS - D1

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

14-ØX 0 BOLTS W/ N&W

D1 7 HSS2X2X1/8 3 5/8"3

wa32 14 L4X3X3/8 2"0

wp117 7 FL3/8"X2 1/2" 2 1/2"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
D1

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:

15179 34469 1421711

3'
-3

5
8/

3
8/

3
'-4

14/
3 SIDES

0"

0"

TYP.

0"

18/
TYP.

BB

A

A

wp117

wa32
wa32

234/ 234/

134/ 134/

1
1 1

1

1116/ "Ø 1116/ "Ø

B - B

11

D1wa32

wa32

A - A



NOTE: DIMENSIONS ARE FOR ACTUAL SIZE
            OF FINISHED GRATING

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

20244 34018 2319480

ONE - GRATING - GR1

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

GR1 1 Grating 1"1/2 Serrated BUY OUT9 1/2"3

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
GR1

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

11
2/

FL316/ X1 12/  x 3'-912/

E
L1

11
'-8

GR1
FB316/ "X1 12/

58/

6
3

4/

3'-912/

BANDINGBANDING
BANDING

LOAD BEARING BAR ORIENTATION

ALIGN TWISTED CROSS RODS



NOTE: DIMENSIONS ARE FOR ACTUAL SIZE
            OF FINISHED GRATING

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

20244 34018 11421858

3 - GRATINGS - GR2

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

GR2 3 Grating 1"1/2 Serrated BUY OUT9 1/2"3

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
GR2

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

FL316/ X1 12/  x 3'-912/

11
2/ GR2

FB316/ "X1 12/

58/

3'
-0

3'-912/

BANDING

BANDING
BANDING

LOAD BEARING BAR ORIENTATION

ALIGN TWISTED CROSS RODS



NOTE: DIMENSIONS ARE FOR ACTUAL SIZE
            OF FINISHED GRATING

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

20611 32773 5924536

ONE - GRATING - GR3

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

GR3 1 Grating 1"1/2 Serrated BUY OUT11 5/8"3

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
GR3

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

FL316/ X1 12/  x 3'-1158/

11
2/ GR3

FB316/ "X1 12/

234/

1'
-4

7
8/

3'-1158/

BANDINGBANDING

BANDING

LOAD BEARING BAR ORIENTATION

ALIGN TWISTED CROSS RODS



NOTE: DIMENSIONS ARE FOR ACTUAL SIZE
            OF FINISHED GRATING

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

19928 32773 11824541

ONE - GRATING - GR4

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

GR4 1 Grating 1"1/2 Serrated BUY OUT11 5/8"3

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
GR4

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

FL316/ X1 12/  x 3'-1158/

11
2/ GR4

FB316/ "X1 12/

218/ 3'-912/

7
3

16/
2

'-4
13

16/

3'-1158/

3'
-0

BANDING

BANDING

BANDING

BANDING

LOAD BEARING BAR ORIENTATION

ALIGN TWISTED CROSS RODS



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

819 31186 11923106

ONE - PATIO GATE - GT1

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

GT1 1 HSS1-1/2X1-1/2X1/8 11 3/4"2

hs17 1 HSS1-1/2X1-1/2X1/8 7 3/4"3

hs32 1 HSS1-1/2X1-1/2X1/8 7 3/4"3

hs33 1 HSS1-1/2X1-1/2X1/8 11 3/4"2

p1 1 FL1/8"X10" 0"3

w8 1 McNichols Steel Mesh 0 5/8"3

w10 1 FL1/8"X2" 2 1/2"0

wp1 2 SELF CLOSING HINGE 4"0

wp2 1 FL3/4"X1 1/2" 9"2

wp71 4 FL3/16"X1 1/2" 0 5/8"3

wp81 4 FL3/16"X1 1/2" 9"2

A307 3/8"Ø16 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
GT1

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR COAT

3
4/

3
4/

35
16/

3 9 9 9 3

9

2
7

1
0

2
'-8

6

3
'-5

2'-9

3
'-2

7
8/

5
1

8/

3'-0 (HSS1-12/ X1-12/ X18/  x 2'-1134/ )

3
'-8

wp71 (B/S)wp71 (B/S)

wp81 (B/S)

wp81 (B/S)

CC

w10 (F/S)

18/ 0"

TYP.

18/
18/

TYP.

hs17

14/
14/

TYP.

0"

0"

TYP.

18/
18/

TYP.

TYP.

B

B

AA
TYP.

p1 (N/S)

w8

hs33

wp2

wp1 (F/S)

hs32

GT1
HSS1-12/ X1-12/ X18/

35
16/

1
0

1
0

1
0

1
2

12
34/

3 9

2'
-7

6

1
1

2/

TYP.

3

11
2/

112/

3
4/

1
1

2/
35

16/
1

0
1

0
1

0

34/

9 3

2
'-1

1

0"

TYP.

1
2

12

112/

7
8/

1
8/

1
8/

158/

34/ 34/

w8

p1

18/ 0"

18/
3 SIDES

hs17

w10

C - C

1
8/

1
8/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp71

wp71

w8

18/
3 SIDES TYP.

hs32

A - A

3
'-2

1
8/

57
8/wp2

p1

B - B



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

4095 34640 57716022

ONE - GUARDRAIL - HR1

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

B ISSUED FOR REVIEW/COMMENT/APPROVAL 11/NOV/2015

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

24-ØX 0 BOLTS W/ N&W

HR1 1 HSS1-1/2X1-1/2X1/8 3 1/16"19

bp-1 6 FL1/2"X8" 8"0

p37 10 FL3/4"X1 1/2" 8 5/8"3

w11 6 HSS1-1/2X1-1/2X1/8 9"2

w72 5 McNichols Steel Mesh 8 5/8"3

wp6 1 FL1/4"X1 1/2" 1 1/2"0

wp87 20 FL3/16"X1 1/2" 8 5/8"3

wp106 20 FL3/16"X1 1/2" 0 1/4"2

A307 3/8"Ø80 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR1

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

3'-1018/

19'-4116/

wp87 (B/S)

wp87 (B/S)

wp106 (B/S)

p37

w72

T
Y

P
.

B

B

0"

0"

TYP.

0"

14/
14/

TYP.

AA

3'-1018/

2
'-1

3
4/

5
1

8/

14/

1
2/

E
L1

12
'-3

1
2/

2
'-1

1

wp106 (B/S)

wp87 (B/S)

wp87 (B/S)

wp106 (B/S)

wp106 (B/S)

0"

TYP.

HR1
HSS1-12/ X1-12/ X18/

TYP. TYP.

wp87 (B/S)

wp87 (B/S)

wp106 (B/S)

p37

p37

wp6

w72

p37

bp-1

w11

bp-1

w11
w11

bp-1

p37

w72

34/ 34/

1
2/

41
8/

34/

34/

3'-1018/ 3'-1018/

1
2/

wp106 (B/S)

wp106 (B/S)

wp106 (B/S)

wp87 (B/S)

wp106 (B/S)

wp106 (B/S)

TYP.

C

C

p37

w72

w72 w11

bp-1

w11

bp-1

w11

bp-1

p37

p37

p37

p37

1
2/

wp87 (B/S)

1
2/

0"

TYP.

wp87 (B/S)

3'-1018/ 34/

wp87 (B/S)

212/ 212/ 212/

3'-1018/ 3'-1018/ 3'-1018/ 3'-1018/ 3'-1018/

2
1

2/
2

1
2/

2
1

2/
2

1
2/

2
1

2/
2

1
2/

2
1

2/
2

1
2/

2
1

2/
2

1
2/

2
1

2/
2

1
2/

5

C
L

14/
TYP.

A - A

112/ 212/212/ 212/212/ 212/212/ 212/

1
1

2/

1
2/

2
'-1

1

4
1

8/
2

'-1
3

4/
51

8/

212/ 212/

HR1
HSS1-12/ X1-12/ X18/

B - B

34/ 34/

316/ 316/

wp87

wp87

w72

316/ 3"@1'-0"
3" @ ENDS TYP.

C - C



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

9481 38165 36215403

ONE - GUARDRAIL - HR10

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

1 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

16-ØX 0 BOLTS W/ N&W

HR10 1 HSS1-1/2X1-1/2X1/8 7 11/16"15

bp-1 4 FL1/2"X8" 8"0

p2 8 FL3/4"X1 1/2" 9 5/16"3

w35 4 HSS1-1/2X1-1/2X1/8 10"1

w36 4 McNichols Steel Mesh 9 5/16"3

wp6 1 FL1/4"X1 1/2" 1 1/2"0

wp65 16 FL3/16"X1 1/2" 1 1/4"1

wp74 16 FL3/16"X1 1/2" 9 5/16"3

A307 3/8"Ø56 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR10

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

3'-101316/

15'-8 (HSS1-12/ X1-12/ X18/  x 15'-734/ )

1
2/

wp65 (B/S)

AA

p2

w36

p2

w36

p2

bp-1

bp-1

p2

bp-1

p2
wp6

p2bp-1

w36

p2

p2

w35

w35

w35w36

w35

HR10
HSS1-12/ X1-12/ X18/

34/ 34/

3'-101316/

14/

2
'-0

E
L

1
2

4
'-3

1
2/1
2/

11
2/

51
8/

1
'-6

7
8/

T
Y

P
.

C

C

TYP.TYP.

wp74 (B/S)

wp74 (B/S)

wp65 (B/S)

wp74 (B/S)

wp65 (B/S)

wp74 (B/S)

wp65 (B/S)

0"

B

B

TYP.

3'-10116/ 34/

4
1

8/
1'

-2
3

4/
5

1
8/

3'-101316/ 3'-101316/

1
2/

0"

TYP.

wp65 (B/S)
wp74 (B/S)

wp65 (B/S)

wp74 (B/S)wp74 (B/S)

wp74 (B/S)

wp65 (B/S)

wp65 (B/S)

14/
14/

TYP.

0"

0"

TYP.

34/ 34/

316/ 316/

316/ 3"@1'-0"
3" @ ENDS TYP.

p2

w36

wp74wp74

C - C

2
1

2/
21

2/

212/ 212/

2
1

2/
21

2/

5 212/ 212/212/212/

2
1

2/
21

2/

21
2/

2
1

2/

14/
TYP.

C
L

bp-1

w35
w35

w35

bp-1bp-1bp-1

w35

A - A

1
2/

212/212/

2
'-0

51
8/

1
'-2

3
4/

4
1

8/

HR10

w
35

p2
bp-1

p2

B - B



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

9481 38159 46520840

ONE - GUARDRAIL - HR11

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

1 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

24-1/2"ØX1 1/2" A307 BOLTS W/ N&W

HR11 1 HSS1-1/2X1-1/2X1/8 6 5/8"19

bp-1 6 FL1/2"X8" 8"0

p2 10 FL3/4"X1 1/2" 9 5/16"3

w35 6 HSS1-1/2X1-1/2X1/8 10"1

w36 5 McNichols Steel Mesh 9 5/16"3

wp65 20 FL3/16"X1 1/2" 1 1/4"1

wp74 20 FL3/16"X1 1/2" 9 5/16"3

A307 3/8"Ø70 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR11

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

19'-658/

3'-101316/

19'-712/  (HSS1-12/ X1-12/ X18/  x 19'-658/ )

E
L1

24
'-3

wp65 (B/S)
wp74 (B/S)

0"

0"

TYP.

p2

p2

w36

p2

p2

w36

p2bp-1

w35

w36

p2

bp-1

bp-1

bp-1 bp-1 bp-1

w35w35w36

p2

p2

w35

HR11
HSS1-12/ X1-12/ X18/

3'-101316/

2
'-0

41
8/ 1
2/

34/

TYP.TYP.

T
Y

P
.

wp74 (B/S)

wp65 (B/S)

wp74 (B/S)

wp74 (B/S)
wp65 (B/S)

wp65 (B/S)

wp74 (B/S)

wp65 (B/S)

wp74 (B/S)

AA

B

B

TYP.

p2

w36

34/

34/

1
2/

5
1

8/
1

'-2
3

4/

34/

3'-101316/

1
2/

3'-101316/

1
2/ 1
2/ 1
2/

T
Y

P
.

D

D

wp65 (B/S)
wp74 (B/S)

wp74 (B/S)

wp65 (B/S)

wp65 (B/S)
wp74 (B/S)

wp65 (B/S)

wp74 (B/S)

14/
14/

TYP.
CC

w35
w35

p2

18/

3'-101316/ 34/

2
'-0

1
2/

51
8/

1
'-2

3
4/

41
8/

212/212/

p2

bp-1

HR11

p2

B - B

212/ 212/

21
2/

2
1

2/

14/
TYP.

bp-1

w35

A - A

112/ 12

12

C - C

316/ 316/

34/ 34/

wp74 wp74

316/ 3"@1'-0"
3" @ ENDS TYP.

D - D



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

19475 38164 43920856

ONE - GUARDRAIL - HR12

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

1 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

20-ØX 0 BOLTS W/ N&W

HR12 1 HSS1-1/2X1-1/2X1/8 10 1/2"18

bp-1 5 FL1/2"X8" 8"0

p4 10 FL3/4"X1 1/2" 7 11/16"3

w35 5 HSS1-1/2X1-1/2X1/8 10"1

w76 5 McNichols Steel Mesh 7 11/16"3

wp65 20 FL3/16"X1 1/2" 1 1/4"1

wp69 20 FL3/16"X1 1/2" 7 11/16"3

A307 3/8"Ø70 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR12

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

18'-1012/

HSS1-12/ X1-12/ X18/  x 18'-1012/

4
1

8/

3'-9316/

wp65 (B/S)

wp69 (B/S)

wp69 (B/S)

w76

HR12
HSS1-12/ X1-12/ X18/

w35

p4

w35 w35 w35w35

p4

p4

p4

p4

p4

p4

p4

p4

bp-1 bp-1
bp-1

bp-11
2/

3'-9316/ 3'-9316/

11
2/

wp65 (B/S)

wp69 (B/S) wp69 (B/S)

wp65 (B/S)
wp69 (B/S)

wp65 (B/S)

wp69 (B/S)

wp65 (B/S)

TYP.

B

B

T
Y

P
.

bp-1
AA

w76w76

34/

1
'-2

3
4/

51
8/

E
L

1
2

4
'-3 2

'-0

1
2/ 1
2/

34/ 34/

3'-9316/ 3'-8716/

TYP.

C

C
0"

TYP.

TYP.TYP.

wp65 (B/S)

14/
14/

TYP.

wp65 (B/S)
wp69 (B/S)

wp69 (B/S)

wp65 (B/S)

wp69 (B/S)

wp65 (B/S)
wp69 (B/S)

wp65 (B/S)

SECURE FOR
SHIPMENT

0"

0"

TYP

p4

w76w76

1
2/

4
1

8/
1'

-2
3

4/
5

1
8/

138/

1
2/

34/ 34/

3
4/

316/ 316/

wp69
wp69

316/ 3"@1'-0"
3" @ ENDS TYP.

C - C

212/212/

2
1

2/
21

2/

14/
TYP.

bp-1

w35
A - A

1
2/

1
1

2/

41
8/

1
'-2

3
4/

51
8/

34/ 34/

2
'-0

B - B



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

17341 38163 34223813

ONE - GUARDRAIL - HR13

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

1 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

16-ØX 0 BOLTS W/ N&W

HR13 1 HSS1-1/2X1-1/2X1/8 7 1/2"14

bp-1 4 FL1/2"X8" 8"0

p3 8 FL3/4"X1 1/2" 6 3/16"3

w35 4 HSS1-1/2X1-1/2X1/8 10"1

w75 4 McNichols Steel Mesh 6 3/16"3

wp65 16 FL3/16"X1 1/2" 1 1/4"1

wp68 16 FL3/16"X1 1/2" 6 1/4"3

A307 3/8"Ø56 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR13

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

14'-712/

3'-734/

14'-758/  (HSS1-12/ X1-12/ X18/  x 14'-712/ )

wp65 (B/S)

bp-1

bp-1

bp-1

bp-1

p3

w75

p3

p3

p3

w75

p3

w75

p3

w35

w35w35

p3

w75

p3

w35

HR13
HSS1-12/ X1-12/ X18/

34/ 34/

3'-734/

E
L1

24
'-3

1
2/

41
8/

1
'-2

3
4/

51
8/

2
'-0

34/

TYP.TYP.
wp68 (B/S)

wp68 (B/S)
wp65 (B/S)

wp65 (B/S)

wp68 (B/S)

wp68 (B/S)

wp65 (B/S)

AA

SECURE FOR
SHIPMENT

T
Y

P
.

18/

58/

3'-71116/ 3'-812/

1
2/1
2/ 1
2/

TYP.

C

C
0"

TYP.

wp65 (B/S)

wp68 (B/S)

wp65 (B/S)

wp68 (B/S)

wp65 (B/S)wp68 (B/S)

wp65 (B/S)

wp68 (B/S)

0"

0"

TYP.
14/
14/

TYP. BB

138/

12

12

B - B

2
1

2/
21

2/

212/ 212/

14/
TYP.

w35

bp-1

A - A

34/ 34/

3
4/

316/ 316/

wp68 wp68

316/ 3"@1'-0"
3" @ ENDS TYP.

C - C



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

12344 38163 42723813

ONE - GUARDRAIL - HR14

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

1 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

20-1/2"ØX1 1/2" A307 BOLTS W/ N&W

HR14 1 HSS1-1/2X1-1/2X1/8 3 1/4"18

bp-1 5 FL1/2"X8" 8"0

p3 10 FL3/4"X1 1/2" 6 3/16"3

w35 5 HSS1-1/2X1-1/2X1/8 10"1

w75 5 McNichols Steel Mesh 6 3/16"3

wp65 20 FL3/16"X1 1/2" 1 1/4"1

wp68 20 FL3/16"X1 1/2" 6 1/4"3

A307 3/8"Ø70 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR14

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

18'-314/

3'-734/

HSS1-12/ X1-12/ X18/  x 18'-314/

wp68 (B/S)

wp65 (B/S)

wp68 (B/S)

0"

0"

TYP.

bp-1

p3

w75

p3

p3

w75

p3

p3

w75

p3

p3

w75

p3

w35

w35w35w35

p3

w75

p3

w35

HR14
HSS1-12/ X1-12/ X18/

34/

3'-838/

2
'-0

1
2/

5
1

8/
4

1
8/

1
'-2

3
4/

TYP. TYP.

wp65 (B/S)

wp68 (B/S)

wp65 (B/S)
wp68 (B/S)

wp65 (B/S)

wp68 (B/S)
wp65 (B/S)

wp68 (B/S)

AA

SECURE FOR
SHIPMENT

T
Y

P
.

bp-1

138/

E
L1

24
'-3

34/

3'-71116/

1
2/

3'-734/ 3'-71116/

1
2/1
2/

TYP.

B

B
0"

TYP.

wp68 (B/S)

wp65 (B/S)

wp68 (B/S)
wp65 (B/S)

wp68 (B/S)

wp65 (B/S)

wp68 (B/S)
wp65 (B/S)

wp65 (B/S)

14/
14/

TYP.

bp-1bp-1bp-1

34/

1
2/

12

1
2

138/

HR14
HSS1-12/ X1-12/ X18/

212/212/

2
1

2/
21

2/

14/
TYP.

bp-1

w35

A - A 34/ 34/
3

4/

316/ 316/

wp68wp68

316/ 3"@1'-0"
3" @ ENDS TYP.

B - B



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

20232 34636 12719361

ONE - HANDRAIL - HR15

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

HR15 1 HSS1-1/2X1-1/2X1/8 11 7/8"3

w85 1 McNichols Steel Mesh 8"3

wp38 2 FL3/4"X1 1/2" 0 1/2"3

wp59 2 FL3/4"X1 1/2" 8"3

wp60 2 FL3/4"X1 1/2" 2 1/2"0

wp104 4 FL3/16"X1 1/2" 3 3/4"2

wp114 4 FL3/16"X1 1/2" 8"3

A307 3/8"Ø16 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR15

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

3'-912/

E
L1

12
'-0

3
'-2

18/ 3'-1178/

35
8/

2
'-5

1
4/

5
1

8/

4'-0 (HSS1-12/ X1-12/ X18/  x 3'-1178/ )

wp104 (B/S)

TYP.

T
Y

P
.

C

C
0"

TYP.
wp114 (B/S)

wp104 (B/S)

wp114 (B/S)
0"

0"

14/
14/

TYP.

TYP. U.N

BB

AA

wp59

wp60

wp60
wp59

w85

HR15
HSS1-12/ X1-12/ X18/

2- wp38

3
4/

34/

212/

12

1
2

34/

1
1

2/

316/ 316/

34/ 34/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp114wp114

wp59

C - C

1
8/

12

1
2

3
4/

3
4/

138/

wp38

HR15
HSS1-12/ X1-12/ X18/

A - A

12

1
2

3
4/

3
4/

112/

wp60
wp59

wp38

B - B



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

20847 34637 28620723

ONE - HANDRAIL - HR16

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

HR16 1 HSS1-1/2X1-1/2X1/8 2 3/4"9

w84 3 McNichols Steel Mesh 11 1/4"2

wp38 3 FL3/4"X1 1/2" 0 1/2"3

wp58 6 FL3/4"X1 1/2" 11 1/4"2

wp60 2 FL3/4"X1 1/2" 2 1/2"0

wp104 12 FL3/16"X1 1/2" 3 3/4"2

wp116 12 FL3/16"X1 1/2" 11 1/4"2

A307 3/8"Ø42 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR16

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

3'-0

9'-212/

3
5

8/

9'-278/  (HSS1-12/ X1-12/ X18/  x 9'-234/ )

wp116 (B/S)

wp116 (B/S)

wp104 (B/S)

AA HR16
HSS1-12/ X1-12/ X18/

0"

0"

TYP.

14/
14/

TYP.

wp58 wp58

wp58

SECURE FOR
SHIPMENT

wp60

wp60

TYP.  U.N.

BB

wp58 wp58 wp58

wp38

wp38wp38

w84
w84w84

38/ 38/ TYP.

278/ 3'-0

E
L1

12
'-0

3
'-2

2
'-5

1
4/

51
8/

wp104 (B/S)

wp116 (B/S)

wp104 (B/S)

wp116 (B/S)

35
8/

2'
-5

1
4/

51
8/

1
1

2/

3'-0

38/

TYP.

C

C
0"

TYP.

wp116 (B/S)

wp104 (B/S)

wp104 (B/S)

wp116 (B/S)

wp104 (B/S)

34/ 34/

3
4/

316/ 316/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp116wp116

C - C

112/

12

12

wp38

w84
wp60 (B/S)

A - A

112/

12

1
2

wp60

wp38

B - B



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

18825 38164 877747

ONE - GUARDRAIL - HR17

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

1 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

4-1/2"ØX1 1/2" A307 BOLTS W/ N&W

HR17 1 HSS1-1/2X1-1/2X1/8 9 7/8"3

bp-1 1 FL1/2"X8" 8"0

p5 2 FL3/4"X1 1/2" 7 1/4"3

w35 1 HSS1-1/2X1-1/2X1/8 10"1

w77 1 McNichols Steel Mesh 7 1/4"3

wp6 1 FL1/4"X1 1/2" 1 1/2"0

wp64 4 FL3/16"X1 1/2" 7 1/4"3

wp65 4 FL3/16"X1 1/2" 1 1/4"1

A307 3/8"Ø14 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR17

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

4
1

8/
51

8/

3'-978/

2'
-0

51
8/

34/ 34/

138/ 3'-8 34/

3'-1018/  (HSS1-12/ X1-12/ X18/  x 3'-978/ )

1
2/

TYP.

C

C0"

TYP.

wp65 (B/S)

wp64 (B/S)

BB

wp65 (B/S)

wp64 (B/S)

wp6

SECURE FOR
SHIPMENT.

0"

AAp5

p5

14/
TYP.

w77

HR17
HSS1-12/ X1-12/ X18/

w35

bp-1

1'
-2

3
4/

E
L1

24
'-3

4
1

8/
1'

-2
3

4/

14/

34/
5

21
2/

2
1

2/

14/

w35

bp-1

A - A

138/

12

1
2

w77

B - B

34/ 34/

316/ 316/

3
4/

wp64 wp64

316/ 3"@1'-0"
3" @ ENDS TYP.

C - C



PLEASE VERIFY HSS
SECTION IF AVAILABLE

 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

14275 34538 7339706

ONE - GUARDRAIL - HR18

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

HR18 1 RHS4"X1 1/2"X3/16" 2 3/8"20

hs46 1 HSS1-1/2X1-1/2X1/8 2 3/8"20

p6 6 FL3/4"X1 1/2" 11 1/4"3

p7 2 FL3/4"X1 1/2" 11 1/4"3

p8 2 FL3/4"X1 1/2" 11 1/4"3

p9 2 FL3/4"X1 1/2" 6"3

w80 4 HSS1-1/2X1-1/2X1/8 0 1/2"3

w83 3 McNichols Steel Mesh 11 1/4"3

w88 1 McNichols Steel Mesh 11 1/4"3

w89 1 McNichols Steel Mesh 11 1/4"3

wp90 20 FL3/16"X1 1/2" 11 1/4"3

wp104 20 FL3/16"X1 1/2" 3 3/4"2

A307 3/8"Ø80 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR18

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISHED

4'-034/

20'-378/

wp104 (B/S)

wp90 (B/S)

wp104 (B/S)

wp90 (B/S)

HR18
RHS4"X1 12/ "X316/

0"

3 SIDES TYP.

A

A

T
Y

P
.

p9

p7

w88

p7

p6

w83

p6

p6

w83

p6

p6

w83

p6

p8

w89

p8

w80 w80 w80

p9

4'-0 4'-034/

34/
34/ 34/

4

1
1

2/

7
5

8/
2

'-5
1

4/
5

1
8/

3
'-6

34/34/

wp90 (B/S) wp90 (B/S)

wp104 (B/S)

wp104 (B/S)

wp104 (B/S)

wp90 (B/S)

wp90 (B/S)

wp104 (B/S)

hs46

14/
TYP.

0"

3 SIDES TYP.

14/
TYP.

34/ 4'-0 34/

34/34/ 34/ 34/ 34/

TYP.

B

B

0"

TYP.

wp90 (B/S)

wp104 (B/S)

wp90 (B/S)

wp104 (B/S)

wp104 (B/S)

wp90 (B/S)

wp104 (B/S)

wp90 (B/S) 14/
14/

TYP.

w80

0"

0"

TYP.

4'-034/

34/ 34/

316/ 316/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp90 wp90

B - B

4

4

112/

3
'-6

75
8/

2
'-5

1
4/

51
8/

HR18
RHS4"X1 12/ "X316/

w80

p6

A - A



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

15695 34541 25312245

ONE - GUARDRAIL - HR19

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

10-ØX 0 BOLTS W/ N&W

HR19 1 HSS1-1/2X1-1/2X1/8 10 1/2"3

hs50 1 HSS1-1/2X1-1/2X1/8 7 5/8"2

hs54 1 RHS4"X1 1/2"X3/16" 9 1/8"3

hs55 1 RHS4"X1 1/2"X3/16" 6 1/4"2

p12 2 FL3/4"X1 1/2" 9 1/8"3

p13 2 FL3/4"X1 1/2" 6 1/4"2

p14 2 FL3/8"X3" 6"3

w81 1 HSS1-1/2X1-1/2X1/8 4 1/2"3

w97 1 McNichols Steel Mesh 9 1/8"3

w98 1 McNichols Steel Mesh 6 1/4"2

wp88 4 FL3/16"X1 1/2" 9 1/8"3

wp104 8 FL3/16"X1 1/2" 3 3/4"2

wp108 4 FL3/16"X1 1/2" 6 1/4"2

A307 3/8"Ø28 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR19

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

3'-978/
2

'-4
1

2/

3
'-6

3'-978/

4
11

2/

3'-1014/

2
'-5

1
4/

H

H
wp88 (B/S)

wp104 (B/S)

wp88 (B/S)

D

D

5 - 916/ "Ø

14/
TYP.

0"

3 SIDES TYP.

TYP.

CC

E

E

BB

14/
0"

TYP.

0"

3 SIDES TYP.

AA

p12

p12

p14

p14 (F/S)

w98 (F/S)

p13 (F/S)

w97

p13 (F/S)

hs54

w81

HR19
HSS1-12/ X1-12/ X18/

38/

7
5

8/

wp104 (B/S)

38/

51
8/

4
3

4/

21
2/

3
4/

112/

34/

4
3

4/
3

4/
TYP.

2
'-4

1
2/

3
'-6

2'-7

wp108 (B/S)

wp104 (B/S)

wp108 (B/S)

wp104 (B/S)

hs55

p14

w98

w97

p12

p13

p13

hs50

p12

hs54

D - D

7
5

8/

11
2/

57
8/

4

38/

3'-1014/

112/

3
8/

2
'-7

3
8/

38/

1
1

2/

14/ 0"

TYP.

14/
TYP.

p14

p14

w81

hs54 hs55

A - A

34/ 34/

316/ 316/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp88wp88

H - H

43
4/

43
4/

3
4/

2
1

2/

2
'-4

1
2/

3
4/

3
'-6

8
3

8/
2

'-4
1

2/
5

1
8/

214/ 34/

p14

5 - 916/ "ØHR19
HSS1-12/ X1-12/ X18/

p12

w97

p12

hs54

E - E

2'
-7

3
8/

112/

1
1

2/

3'-1014/

38/

3
8/

p14

w98

p1
3

w81w97

p12
p14

B - B

12

1
2

11
2/

112/

3'-1014/

38/2
'-7

3
8/

3
8/ p14

w81p14
hs

50

HR19
HSS1-12/ X1-12/ X18/

C - C



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

4095 34646 44921374

ONE - GUARDRAIL - HR2

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

16-ØX 0 BOLTS W/ N&W

HR2 1 HSS1-1/2X1-1/2X1/8 5 3/16"15

bp-1 4 FL1/2"X8" 8"0

p37 6 FL3/4"X1 1/2" 8 5/8"3

p38 2 FL3/4"X1 1/2" 8 5/8"3

w11 4 HSS1-1/2X1-1/2X1/8 9"2

w72 3 McNichols Steel Mesh 8 5/8"3

w73 1 McNichols Steel Mesh 8 5/8"3

wp87 16 FL3/16"X1 1/2" 8 5/8"3

wp106 16 FL3/16"X1 1/2" 0 1/4"2

A307 3/8"Ø64 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR2

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

3'-1018/

HSS1-12/ X1-12/ X18/  x 15'-5316/

wp106 (B/S)

wp87 (B/S)

bp-1
bp-1bp-1bp-1

AA

p37p37 p38 p37

p37p38

w72

p37

w72

p37

w73

w11

w72

w11 w11 w11

34/

34/ 34/

3'-1018/

41
8/

2
'-1

3
4/

51
8/

E
L1

12
'-3

2
'-1

1

1
2/

11
2/

TYP.

wp87 (B/S)

wp106 (B/S)

C

C

T
Y

P
.

HR2
HSS1-12/ X1-12/ X18/

TYP. TYP.

wp87 (B/S)

wp106 (B/S)

wp87 (B/S)

wp106 (B/S)
SECURE FOR
SHIPMENT.

1
2/

3'-1018/ 3'-1018/ 34/

1
2/1
2/

wp87 (B/S)

wp106 (B/S)

wp87 (B/S)

wp106 (B/S)

wp87 (B/S)

wp106 (B/S)

wp87 (B/S)

wp106 (B/S)

0"

0"

TYP.
14/
14/

TYP.

0"

TYP.

BB

316/ 316/

34/ 34/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp87wp87
w72

C - C

212/ 212/

2
1

2/
21

2/

14/
TYP.

w11bp-1

A - A

112/

12

1
2

HR2
HSS1-12/ X1-12/ X18/

B - B



 ALL HOLES ARE 916/ "Ø U.N.O.

PLEASE VERIFY HSS
SECTION IF AVAILABLE

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

10262 34539 33712822

ONE - GUARDRAIL - HR20

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

HR20 1 HSS1-1/2X1-1/2X1/8 0 1/4"9

hs53 1 RHS4"X1 1/2"X3/16" 0 1/4"9

p9 2 FL3/4"X1 1/2" 6"3

p11 4 FL3/4"X1 1/2" 5 3/8"4

w80 1 HSS1-1/2X1-1/2X1/8 0 1/2"3

w96 2 McNichols Steel Mesh 5 3/8"4

wp91 8 FL3/16"X1 1/2" 5 3/8"4

wp104 8 FL3/16"X1 1/2" 3 3/4"2

A307 3/8"Ø32 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR20

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

4'-618/

3
'-6

34/

51
8/

9'-134/

11
2/

C

C
wp91 (B/S)

wp91 (B/S)

wp104 (B/S)

wp91 (B/S)

14/
14/

TYP.
0"

0"

TYP.

0"

3 SIDES TYP.

14/
TYP.

0"

3 SIDES TYP.

14/
TYP.

A

A

T
Y

P
.

p9 p11

p11

w96

p11

p11

w96

hs53

w80

p9

HR20
HSS1-12/ X1-12/ X18/

34/ 4'-618/

34/ 34/

2
'-5

1
4/

75
8/

wp104 (B/S)

wp104 (B/S)

34/

34/

4

0"

TYP.

wp104 (B/S)

wp91 (B/S)

34/ 34/

316/ 316/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp91 wp91

C - C

4

4

3
'-6

112/

75
8/

51
8/

2
'-5

1
4/

HR20
HSS1-12/ X1-12/ X18/

A - A



 ALL HOLES ARE 916/ "Ø U.N.O.

PLEASE VERIFY HSS
SECTION IF AVAILABLE

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

13131 34540 28812822

ONE - GUARDRAIL - HR21

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

HR21 1 RHS4"X1 1/2"X3/16" 6 1/8"7

hs48 1 HSS1-1/2X1-1/2X1/8 6 1/8"7

p9 2 FL3/4"X1 1/2" 6"3

p10 4 FL3/4"X1 1/2" 8 5/16"3

w80 1 HSS1-1/2X1-1/2X1/8 0 1/2"3

w95 2 McNichols Steel Mesh 8 5/16"3

wp89 8 FL3/16"X1 1/2" 8 5/16"3

wp104 8 FL3/16"X1 1/2" 3 3/4"2

A307 3/8"Ø32 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR21

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISHED

7'-758/

3'-91316/ 3'-91316/

3
'-6

7'-618/

5
1

8/

wp89 (B/S)

wp89 (B/S)

C

C

p10

wp104 (B/S)

0"

0"

TYP.
14/
14/

TYP.

0"

3 SIDES TYP.

14/
TYP.

0"

3 SIDES TYP.

14/
TYP.

A

A

T
Y

P
.

p9

p10

w95

p10

p10

w95

HR21

w80

p9

HR21
HSS1-12/ X1-12/ X18/

34/

2
'-5

1
4/

7
5

8/

wp89 (B/S)

wp104 (B/S)

4

34/34/

34/

wp89 (B/S)

wp104 (B/S)

0"

TYP.

TYP.

34/ 34/

316/ 316/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp89wp89

C - C

4

3
5

8/

3
4/

3
'-6

112/

7
5

8/
5

1
8/

2
'-5

1
4/

HR21
RHS4"X1 12/ "X316/

A - A



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

19647 34143 23823068

ONE - HANDRAIL - HR3

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

HR3 1 HSS1-1/2X1-1/2X1/8 6 5/16"6

w7 1 HSS1-1/2X1-1/2X1/8 5 1/4"0

w26 1 TUBE1 1/2"X3/16" 2"0

w27 1 TUBE1 1/2"X3/16" 3 1/8"0

w30 1 TUBE1 1/2"X3/16" 9 1/4"0

w31 1 TUBE1 1/2"X3/16" 9 13/16"6

w34 3 ROD1/2" 3 7/16"0

w69 1 McNichols Steel Mesh 0"4

w79 1 McNichols Steel Mesh 8 3/8"4

wp10 1 FL1/4"X1 1/2" 1 1/2"0

wp24 1 FL3/4"X1 1/2" 2"3

wp25 1 FL3/4"X1 1/2" 2 3/16"3

wp26 2 FL3/4"X1 1/2" 5 13/16"3

wp30 1 FL3/4"X1 1/2" 1 1/2"3

wp31 1 FL3/4"X1 1/2" 3 5/8"0

wp34 1 FL3/4"X1 1/2" 3 1/16"0

wp35 1 FL3/4"X1 1/2" 2 15/16"3

wp36 1 FL3/4"X1 1/2" 4 11/16"3

wp104 2 FL3/16"X1 1/2" 3 3/4"2

wp119 2 FL3/16"X1 1/2" 2 3/16"3

wp120 4 FL3/16"X1 1/2" 5 5/16"3

wp121 2 FL3/16"X1 1/2" 3 1/2"0

wp123 4 FL3/16"X1 1/2" 3 15/16"2

wp124 2 FL3/16"X1 1/2" 3 15/16"2

wp125 2 FL3/16"X1 1/2" 1 1/4"3

wp126 2 FL3/16"X1 1/2" 3 7/16"0

A307 3/8"Ø30 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR3

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

5'-912/

6916/

1
2

69
16/

12

312/

1
2

38/

6
'-1

0
1

4/

5'-6 214/

3
'-7

9
16/

6
3

4/

1
'-1

0
11

16/
2

'-5
1

4/

3'-5 5
16
/

5'-8716/

6'-0

3
'-8

1
4/

3
'-2

3'-0

3
'-6

6'-9 1
8/

6'-6 1
4/

6 3
8/

3'-0 1
2/

3'-5 3
4/

0"

TYP.

wp121 (B/S)

wp124 (B/S)

TYP.TYP.

w34 (F/S)

w34 (F/S)

w34 (F/S)

0"

TYP.

14/
TYP.

A

B

w7

wp34 w69

w79

wp26

wp35

wp25

wp24

wp10 (F/S)

wp36

w30 (F/S)

w31 (F/S)

wp26
HR3
HSS1-12/ X1-12/ X18/

w27 (F/S)

w26 (F/S)

212/

1
2

12

6916/

1
2

6
9

16/
12

7
5

8/

12

3 4/
1

1 2/

34/ 3116/

38/

3
5

8/
1

'-9
9

16/

3'-2

3'-0

wp119 (B/S)

wp123 (B/S)

312/

1
2

358/

514/ 6

2 9
5

1
8/

11
2/

11

316/

3 7
16
/

312/

1
2

wp126 (B/S)

wp104 (B/S)
wp125 (B/S)

69
16/

12

6
9

16/

12

1
2

6916/

5
13

16/

2'
-4

1 8/

21
1

16/

1
1 2/

2
'-7

7
8/

3
5 8/

2'
-1

1 8/

5
3 16/

2'
-9

15
16/

1
2/

34/

3
'-4

1
4/

wp120 (B/S)

wp120 (B/S)

TY
P

.

wp123 (B/S)

C

C

TYP.

R 2 3
16
/

2

20"

0"

TYP.

w26

wp10

A - A

112/

214/

1
3

4/

25
8/

14/
TYP.

wp35

w34

B - B

316/ 316/

34/ 34/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp120

wp120

C - C



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

29

30

31

32

33

34

35

36

37

38

ONE - HANDRAIL - HR4

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 
RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE
OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

HR4 1 HSS1-1/2X1-1/2X1/8 6 5/16"6

w2 1 HSS1-1/2X1-1/2X1/8 11 3/8"3

w12 1 TUBE1 1/2"X3/16" 9 11/16"0

w13 1 HSS1-1/2X1-1/2X1/8 5 5/8"0

w26 2 TUBE1 1/2"X3/16" 2"0

w29 1 McNichols Steel Mesh 0"4

w30 1 TUBE1 1/2"X3/16" 9 1/4"0

w34 3 ROD1/2" 3 7/16"0

w70 1 McNichols Steel Mesh 8 1/4"3

w71 1 TUBE1 1/2"X3/16" 7 11/16"7

w79 1 McNichols Steel Mesh 8 3/8"4

wp10 1 FL1/4"X1 1/2" 1 1/2"0

wp25 1 FL3/4"X1 1/2" 2 3/16"3

wp26 2 FL3/4"X1 1/2" 5 13/16"3

wp27 1 FL3/4"X1 1/2" 10 5/8"0

wp28 1 FL3/4"X1 1/2" 11 11/16"2

wp29 1 FL3/4"X1 1/2" 8 1/4"3

wp32 1 FL3/4"X1 1/2" 1 3/8"3

wp33 1 FL3/4"X1 1/2" 3 3/4"0

wp34 1 FL3/4"X1 1/2" 3 1/16"0

wp35 1 FL3/4"X1 1/2" 2 15/16"3

wp36 1 FL3/4"X1 1/2" 4 11/16"3

wp38 2 FL3/4"X1 1/2" 0 1/2"3

wp57 1 FL1/4"X1 1/2" 2 1/8"0

wp60 2 FL3/4"X1 1/2" 2 1/2"0

wp92 2 FL3/16"X1 1/2" 10 3/16"1

wp95 6 FL3/16"X1 1/2" 4"2

wp104 4 FL3/16"X1 1/2" 3 3/4"2

wp105 2 FL3/16"X1 1/2" 8 1/4"3

wp107 2 FL3/16"X1 1/2" 11 7/16"2

wp113 2 FL3/16"X1 1/2" 1 1/8"3

wp115 2 FL3/16"X1 1/2" 10 3/8"0

wp118 2 FL3/16"X1 1/2" 3 9/16"0

wp119 2 FL3/16"X1 1/2" 2 3/16"3

wp120 4 FL3/16"X1 1/2" 5 5/16"3

wp121 2 FL3/16"X1 1/2" 3 1/2"0

A307 3/8"Ø46 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR4

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

20842 33898 35623581

6
9

16/

12

51316/

35
8/

2
'-5

1
4/

51
8/

3
5

8/
2

'-5
1

4/
4

'-6
1

8/

3 7
16
/

7'-7 1
4/

8916/ 2'-111116/ 314/

312/

12

6916/

12
6

9
16/

12
6916/

12

6
9

16/

12

6916/

12

312/

12

6
9

16/

12

6
'-8

1
4/

63
4/

3'-0 1
2/

3'-5 3
4/

38/ 38/

7'
-3

312/

12

9716/ 2

2'
-7

1
4/

1034/ 11716/

6'-6 1
4/

1'-4 1
2/

6'-0 3'-1138/

38/ 558/ 5'-6

1
1

2/

212/ 5'-912/ 3'-1112/

1
2/

3
'-2

7

3
'-9

3
'-6

514/ 3'-0

3'-5 5
16
/

2'
-1

3 16/

4
'-1

2
'-7

1
4/

878/

10'-434/  (HSS1-12/ X1-12/ X18/  x 6'-6516/ )

0"

TYP.

wp120 (B/S)

wp104 (B/S)

wp113 (B/S)

2- w34
D

AA

14/
TYP.

0"

TYP.

wp34

wp25

wp38

wp26

wp35

wp26

wp36

w29

w79

w70

w13

w71 (N/S)

w30 (N/S)

w2

w26 (N/S)

wp10 (N/S)

3'-0

3'-2 1
8/

7
5

8/

12

3
5 8/

TY
P

.

B

B

wp121 (B/S)

wp119 (B/S)

wp95 (B/S)

wp95 (B/S)

wp120 (B/S)

TYP. TYP.

2 9

334/

512/ 5716/

HR4HSS1- 1
2/ X1- 1

2/ X1
8/wp118 (B/S)

w34 (N/S)

wp32

wp33

3'-9 212/

10 1
8/

5
1 8/

18/

wp92 (B/S)

0"

TYP.

14/

wp95 (B/S)
wp105 (B/S)

wp115 (B/S)

wp107 (B/S)

wp29

wp38

wp104 (B/S)

wp27
wp28

FF

w26 (N/S)

w12 (N/S)

wp57 (N/S)

wp60

wp60

TYP.

EE

C

C

2

2
1

4/

21
4/

R 1
3 16/

w30

0"

TYP.

0"

TYP.

wp10

w26

A - A

112/

21
2/

13
4/

214/

w79

w29
14/

TYP.

wp35

w34

D - D

12

12 138/ 18/

R
 1 3

16
/

3

2
1

4/

2
1

4/

wp104

wp104

w2
wp38

w26

wp29

F - F

35
8/

2
'-5

1
4/

51
8/

3
'-2

wp105

wp105

w70

wp29

w2

w
p3

8

wp60

C - C

12

12 112/

11
2/

wp38 wp60

E - E

34/ 34/

316/ 316/

316/ 3"@1'-0"
3" @ ENDS TYP.wp119

wp119

B - B



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

6772 34642 50923635

ONE - GUARDRAIL - HR5

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

16-ØX 0 BOLTS W/ N&W

HR5 1 HSS1-1/2X1-1/2X1/8 1 3/4"17

bp-1 5 FL1/2"X8" 8"0

p39 10 FL3/4"X1 1/2" 3 3/8"3

w11 5 HSS1-1/2X1-1/2X1/8 9"2

w74 5 McNichols Steel Mesh 3 3/8"3

wp6 1 FL1/4"X1 1/2" 1 1/2"0

wp103 20 FL3/16"X1 1/2" 3 7/16"3

wp106 20 FL3/16"X1 1/2" 0 1/4"2

A307 3/8"Ø70 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR5

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

3'-478/

17'-2 (HSS1-12/ X1-12/ X18/  x 17'-134/ )

E
L1

12
'-3

wp103 (B/S)

wp103 (B/S)

wp106 (B/S)

p39

bp-1

p39p39p39 p39

w11w11w11w11w11

AA

w74w74

HR5
HSS1-12/ X1-12/ X18/

w74w74w74

3'-558/

112/

41
8/

2'
-1

3
4/

51
8/

1
2/1
2/

2
'-1

1

TYP.TYP.

wp103 (B/S)

wp106 (B/S)

wp103 (B/S)

wp106 (B/S)

wp106 (B/S)

wp103 (B/S)

wp103 (B/S)

wp106 (B/S)

SECURE FOR
SHIPMENT p39p39

p39

TYP.

bp-1

34/ 34/

3'-478/ 3'-478/

TYP.

B

B

wp106 (B/S) wp106 (B/S)

wp103 (B/S) wp103 (B/S)

wp103 (B/S)

wp106 (B/S)

wp103 (B/S)

wp106 (B/S)

0"

TYP.

wp106 (B/S)

0"

wp6

0"

0"

TYP. 14/
14/

TYP.

p39p39

bp-1bp-1bp-1
1

2/

3'-478/ 34/
1

2/

34/

14/

112/

12

1
2

HR5
HSS1-12/ X1-12/ X18/

2
1

2/
2

1
2/

2
1

2/

2
1

2/
2

1
2/

3'-478/ 3'-478/ 3'-478/ 3'-478/

5
212/212/212/212/212/212/

212/ 212/

14/
TYP.

bp-1

w11bp-1

w11w11

bp-1bp-1

w11

w11

bp-1
A - A

2
1

2/
2

1
2/

2
1

2/
2

1
2/

112/

2
1

2/

34/ 34/

316/ 316/

316/ 3"@1'-0"
3" @ ENDS TYP.

w74

wp103

wp103

B - B



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

29

30

31

32

33

34

35

36

37

38

ONE - HANDRAIL - HR6

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 
RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE
OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

1 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

HR6 1 HSS1-1/2X1-1/2X1/8 0 1/2"13

w5 1 HSS1-1/2X1-1/2X1/8 4 1/4"0

w12 1 TUBE1 1/2"X3/16" 9 11/16"0

w26 3 TUBE1 1/2"X3/16" 2"0

w28 1 TUBE1 1/2"X3/16" 0 11/16"0

w32 1 TUBE1 1/2"X3/16" 7 1/4"0

w33 1 TUBE1 1/2"X3/16" 1 15/16"14

w34 5 ROD1/2" 3 7/16"0

w47 1 TUBE1 1/2"X3/16" 8 3/4"1

w49 1 TUBE1 1/2"X3/16" 8"0

w68 1 McNichols Steel Mesh 4 1/16"4

w78 2 McNichols Steel Mesh 10 9/16"5

wp10 1 FL1/4"X1 1/2" 1 1/2"0

wp19 1 FL3/4"X1 1/2" 9 13/16"3

wp22 4 FL3/4"X1 1/2" 8"4

wp23 1 FL3/4"X1 1/2" 2 1/16"0

wp35 2 FL3/4"X1 1/2" 2 15/16"3

wp36 1 FL3/4"X1 1/2" 4 11/16"3

wp37 1 FL3/4"X1 1/2" 2"3

wp43 1 FL3/4"X1 1/2" 8 15/16"3

wp44 1 FL3/4"X1 1/2" 2 3/4"0

wp66 4 FL3/16"X1 1/2" 7 1/2"4

wp67 4 FL3/16"X1 1/2" 7 1/2"4

wp72 2 FL3/16"X1 1/2" 8 11/16"3

wp73 2 FL3/16"X1 1/2" 9 3/4"3

wp75 2 FL3/16"X1 1/2" 3 3/4"2

wp76 10 FL3/16"X1 1/2" 4"2

wp80 2 FL3/16"X1 1/2" 2 9/16"0

wp84 2 FL3/16"X1 1/2" 2 1/2"0

A307 3/8"Ø35 1 1/4"

A307 3/8"Ø13 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR6

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

17818 32338 43723967

6
5

8/

12

2'
-6

5
16/

2'
-6

5
16/

3'
-2

11'-0 101316/

6
3

4/
7'

-7

11'-11

11'-5 (HSS1-12/ X1-12/ X18/  x 13'-012/ )5

11316/

11'-312/

14'-1 1
2/

1
2/

T
Y

P
.

2
'-8

7
8/

7
'-2

1
4/

3'-1158/

1
0

'-4
1

4/

4'-8 7
16
/

13'-0 7
16
/

312/

12

7
'-0

1
0

'-4
1

4/

4'-7 9
16
/

wp84 (B/S)

wp76 (B/S)

wp67 (B/S)

wp22

wp35

wp36

w33 (F/S)

w32 (F/S)

wp19

w26 (F/S)

wp23

w34 (F/S)

wp35

w34 (F/S)

wp22

wp22

w78

w78

w68

w5

w34 (F/S)

w28 (F/S)

wp37

w49 (F/S)

w47 (F/S)

12

658/

12

6916/

2'
-1

5
8/

112/

3'-534/

7
5

8/

12

3'-9 11
16
/

wp66 (B/S)

wp76 (B/S)

wp76 (B/S)

wp73 (B/S)

0"

TYP,

14/
TYP.

414/ 5

9116/

3'-8 7
16
/

1 1
2/

316/

3 7
16
/

312/

12

51
8/

3'-8 1
2/

2 7

34/ 414/
41

16/
21

1
16/

11
16/

2

1
1

2/

wp75 (B/S)

wp72 (B/S)

wp80 (B/S)

0"

TYP.

14/
TYP.

HR6HSS1- 1
2/ X1- 1

2/ X1
8/

w26 (F/S)

2'
-9

15
16/

2'
-1

3 16/

3'-1158/

4'-7 1
2/

1
2/

1'-4 1
2/

11716/

3
'-4

1
4/

38/38/

4'-7 9
16
/

214/ 1'-834/

2
8

2

0"

TYP.

0"

TYP.

TY
P

.B

B

w12 (F/S)

wp76 (B/S)

wp66 (B/S)

w34 (F/S)

wp76 (B/S)

wp67 (B/S)

w34 (F/S)

0"

wp10 (F/S)

A

A

TYP.

TYP.

TYP.TYP.

w26 (F/S)

wp22

3
5 8/

34/TYP.

12

6916/

5
1 8/ 1

1 2/

2

R 1 3
16
/ 2'

-2
1

2/

1'
-0

9716/ 2

1'-1014/

21516/

2
1

2/

1
3

4/

214/

14/
TYP.

wp35

w34

A - A

34/ 34/

316/ 316/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp66

wp66

B - B



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

29

30

31

32

33

34

35

36

37

38

ONE - HANDRAIL - HR7

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 
RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE
OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

1 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

HR7 1 HSS1-1/2X1-1/2X1/8 0 1/2"13

w3 1 HSS1-1/2X1-1/2X1/8 6 3/8"4

w12 1 TUBE1 1/2"X3/16" 9 11/16"0

w26 3 TUBE1 1/2"X3/16" 2"0

w30 1 TUBE1 1/2"X3/16" 9 1/4"0

w33 1 TUBE1 1/2"X3/16" 1 15/16"14

w34 4 ROD1/2" 3 7/16"0

w47 1 TUBE1 1/2"X3/16" 8 3/4"1

w49 1 TUBE1 1/2"X3/16" 8"0

w67 1 McNichols Steel Mesh 4 1/16"4

w78 2 McNichols Steel Mesh 10 9/16"5

w82 1 McNichols Steel Mesh 3 5/8"3

wp10 2 FL1/4"X1 1/2" 1 1/2"0

wp18 1 FL3/4"X1 1/2" 0 1/2"3

wp19 1 FL3/4"X1 1/2" 9 13/16"3

wp20 1 FL3/4"X1 1/2" 8 5/8"0

wp21 2 FL3/4"X1 1/2" 3 5/8"3

wp22 4 FL3/4"X1 1/2" 8"4

wp35 2 FL3/4"X1 1/2" 2 15/16"3

wp36 1 FL3/4"X1 1/2" 4 11/16"3

wp38 1 FL3/4"X1 1/2" 0 1/2"3

wp42 1 FL3/4"X1 1/2" 9 3/8"0

wp43 1 FL3/4"X1 1/2" 8 15/16"3

wp60 2 FL3/4"X1 1/2" 2 1/2"0

wp66 4 FL3/16"X1 1/2" 7 1/2"4

wp67 4 FL3/16"X1 1/2" 7 1/2"4

wp75 6 FL3/16"X1 1/2" 3 3/4"2

wp76 10 FL3/16"X1 1/2" 4"2

wp77 2 FL3/16"X1 1/2" 9 3/4"3

wp78 2 FL3/16"X1 1/2" 8 11/16"3

wp79 4 FL3/16"X1 1/2" 3 5/8"3

wp85 2 FL3/16"X1 1/2" 9 1/16"0

wp86 2 FL3/16"X1 1/2" 9 1/8"0

A307 3/8"Ø51 1 1/4"

A307 3/8"Ø11 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR7

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

18350 32565 55725158

312/

12

3'-8 1
2/

4'-8 7
16
/

4'-7 9
16
/

3'-1158/

11'-11

2
'-5

1
4/

17'-434/  (HSS1-12/ X1-12/ X18/  x 13'-012/ )

101316/11'-0

13'-0 7
16
/

11'-312/

14'-1 3
4/

7
'-0

1
0

'-4
1

4/

3'-8 7
16
/

3
'-2

7
'-2

1
4/

312/

wp67 (B/S)

wp76 (B/S)

wp75 (B/S) wp78 (B/S)

w26

wp10

w30

w26

w26

wp38

wp21

wp20

w34 (N/S)

w34

wp19

w47

w33

w34

wp18

wp36

wp35

w3

wp10

wp43

wp22

wp22

wp42

wp60

wp60
6916/

12

6
9

16/
12

6
5

8/

12

6916/

12

3'-9 11
16
/

212/ 3'-434/ 3'-1158/

312/

12

3
5

8/

4'-3

114/

858/

wp85 (B/S)

wp76 (B/S)

wp77 (B/S)

wp79 (B/S)

wp75 (B/S)

0"

TYP.
14/

TYP.

C

C

BB
TYP.

TYP.

w67

wp35

w34

wp22

312/

12

11116/

5
1

8/

18/ 4'-638/

316/2 9116/
3 1

4/

112/938/ 1 1
2/

1
1

2/

wp75 (B/S)

wp79 (B/S)

wp86 (B/S)

AA

DDwp21

HR7HSS1- 1
2/ X1- 1

2/ X1
8/

w82

4'-7 1
2/

1
'-1

3
4/

2'
-4

7 8/

5
1 16/

4
3 8/

2'
-5

9 16/

4'-7 9
16
/

4'-0

1'-4 1
2/

1'-1014/

3
'-4

1
4/R 1

3 16/

34/

2
2

8

11716/
1

1 2/

TY
P

.

G

G

0"

TYP.

wp76 (B/S)

wp66 (B/S)

wp67 (B/S)

wp76 (B/S)

wp76 (B/S)

wp66 (B/S)

0"

TYP.

0"

TYP. TYP.

TYP.

w78

w78

w12
wp22

w49

7
5

8/
12

6
5

8/
12

38/ 38/

1
'-0

1
'-2

1
2/

1
2/

14/

21'-834/

112/

12

12

1
1

2/

wp60

wp21

w3

A - A

112/

7
8/

13
4/

214/

25
8/

14/
TYP.

w34

w
p3

5

C - C

2

1
4/

2 3

R 1
3 16/

w30

wp10

w26

D - D

34/ 34/

316/ 316/

316/ 3"@1'-0"
3" @ ENDS TYP.

wp66 wp66

G - G

112/

12

12

B - B



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

19475 38164 3519955

ONE - GUARDRAIL - HR8

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

1 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

16-ØX 0 BOLTS W/ N&W

HR8 1 HSS1-1/2X1-1/2X1/8 1 5/16"15

bp-1 4 FL1/2"X8" 8"0

p4 8 FL3/4"X1 1/2" 7 11/16"3

w35 4 HSS1-1/2X1-1/2X1/8 10"1

w76 4 McNichols Steel Mesh 7 11/16"3

wp65 16 FL3/16"X1 1/2" 1 1/4"1

wp69 16 FL3/16"X1 1/2" 7 11/16"3

A307 3/8"Ø56 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR8

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

15'-1516/

3'-9316/

15'-1716/

0"

TYP.

wp65 (B/S)

w76w76w76w76

AA
p4p4

p4

p4

p4p4p4

w35
w35

w35

w35

p4
bp-1bp-1bp-1

bp-1

58/

18/

41
8/

1'
-2

3
4/

5
1

8/

E
L1

24
'-3

34/ 34/

34/ 3'-9316/

11
2/

2'
-0

T
Y

P
.

HR8
HSS1-12/ X1-12/ X18/

C

C

TYP. TYP.

wp69 (B/S)

wp69 (B/S)

wp69 (B/S)

wp65 (B/S)

wp69 (B/S)

wp65 (B/S)

wp65 (B/S)

BB
T

Y
P

.

41
8/

1'
-2

3
4/

5
1

8/

1
2/

3'-9316/ 3'-8716/ 34/

0"

0"

TYP.

14/
14/

TYP.

T
Y

P
.

wp65 (B/S)

wp69 (B/S)

wp65 (B/S)
wp65 (B/S)

wp65 (B/S)

wp69 (B/S)

wp69 (B/S)
wp69 (B/S)

SECURE FOR
SHIPMENT

12

1
2

138/

w35

HR8

B - B

21
2/

2
1

2/

212/ 212/

14/
TYP.

bp-1

w35

A - A

316/ 316/

34/ 34/

316/ 3"@1'-0"
3" @ ENDS TYP.

p4

w76
wp69wp69

C - C



 ALL HOLES ARE 916/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

19475 38164 43915119

ONE - GUARDRAIL - HR9

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

1 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

20-ØX 0 BOLTS W/ N&W

HR9 1 HSS1-1/2X1-1/2X1/8 9 7/8"18

bp-1 5 FL1/2"X8" 8"0

p4 10 FL3/4"X1 1/2" 7 11/16"3

w35 5 HSS1-1/2X1-1/2X1/8 10"1

w76 5 McNichols Steel Mesh 7 11/16"3

wp65 20 FL3/16"X1 1/2" 1 1/4"1

wp69 20 FL3/16"X1 1/2" 7 11/16"3

A307 3/8"Ø70 1 1/2"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
HR9

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

18'-978/

3'-9316/

18'-1058/  (HSS1-12/ X1-12/ X18/  x 18'-978/ )

wp69 (B/S)

wp69 (B/S)
wp65 (B/S)

w76

HR9
HSS1-12/ X1-12/ X18/

w35

p4

w35 w35
w35

w35

p4

p4

p4

p4

p4

p4

p4

p4

bp-1 bp-1
bp-1

bp-1

3'-9316/ 3'-9316/

1
2/1
2/

TYP.

B

B
wp65 (B/S)

wp69 (B/S)

wp65 (B/S)
wp69 (B/S)wp65 (B/S)

bp-1

wp69 (B/S)

wp69 (B/S)

wp65 (B/S)

TYP.

w76 w76

AA

34/

4
1

8/
1'

-2
3

4/
5

1
8/

1
2/

11
2/

2
'-0

E
L

1
2

4
'-3

34/ 3'-9316/ 34/

1
2/1
2/

0"

TYP.

wp65 (B/S)

TYP.TYP.

wp65 (B/S)

wp69 (B/S)

wp65 (B/S)

wp69 (B/S)

wp69 (B/S)

wp69 (B/S)

wp65 (B/S)

SECURE FOR
SHIPMENT

0"

0"

TYP. 14/
14/

TYP.
p4

w76
w76

34/ 34/

3'-8716/

316/ 316/

34/ 34/

316/ 3"@1'-0"
3" @ ENDS TYP.

w76

wp69
wp69

B - B

2
1

2/
21

2/

212/212/

14/
TYP.

bp-1

w35

A - A



 ALL HOLES ARE 1316/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

17767 36073 9116702

ONE - LADDER - LD1

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

LD1 1 FL3/8"X2" 2"12

w21 12 RB5/8" 6 1/4"1

wa1 2 L2-1/2X2-1/2X1/4 2"0

wa2 2 L9X4X1/2 3"0

wp12 1 FL3/8"X2" 2"12

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
LD1

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
SHOP PRIMED-GRAY

12'-212/  (FL38/ X2 x 12'-2")

87

1
1

w21 (N/S)w21 (N/S)

wp12 (N/S)

LD1
FL38/ "X2wa1 (F/S)

wa1 (N/S)

R=1

14/
 TYP.

wa2 (N/S)
wa2 (F/S)

11'-1

6
'-1

1
1

2/

5
'-1

1
1

2/

7
'-1

1
1

2/

11@1'-0=11'-0 212/

1
1

'-1

11
8/

1
1

8/

12'-212/

12'-212/

wa1

wa1
wa2

wa2

LD1
FL38/ "X2

wp12

14/
TYP.

10- w21

14/
14/

 TYP.

A

A

B

B

TYP.

78/ "Ø

78/ "Ø

13
8/

1
'-7

13
8/ 11

1
2/

RD

2
'-1

1
1

2/

4
'-1

1
1

2/

1
'-1

1
1

2/

3
'-1

1
1

2/

1112/

1
'-6

1
4/

1'-1

8
'-1

1
1

2/

1
0

'-1
1

1
2/

9
'-1

1
1

2/

1
1

'-1
1

1
2/

1
3

8/
1

3
8/

1
'-7

11

11

wa1

wa1

LD1

wp12

78/ "Ø

78/ "Ø

A - A

1 1

1 1 3
8/

1
'-6

1
4/

3
8/

1
'-7

wp12

LD1

w
21

B - B



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

9001 30632 65-200

ONE - BENCH FOOTREST - M1

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 01/MAR/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M1 1 FL3/16"X6 1/2" 7 3/16"6

wp122 1 PL3/16"X6 5/16" 8 7/16"0

wp131 1 PLT3/16"X8 7/16" 7 3/16"6

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M1

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

61
2/

45 °

3
16/

65
16/

316/

FL316/ X6 12/  x 6'-7316/

6516/

wp131 (F/S) A

A

wp122 (F/S)

M1
FB316/ "X6 12/

85
8/

316/

6'-7316/

18/
0"

wp122

M1
FB316/ "X6 12/

316/ 8716/

858/

3
16/

65
16/

61
2/

0"

18/

M1

wp131

A - A



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

8077 30614 6110792

3 - MAIN BAR FOOTRESTS - M14

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M14 3 PLT1/8"X14 1/4" 0"10

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M14

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

712/

10
'-0

M14
PLT18/ "X14 14/

738/ 18/

712/

7

1
8/

6
7

8/



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

12454 30612 4310339

ONE - MAIN BAR FOOTREST - M17

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M17 1 PLT1/8"X14 1/4" 9"6

wp3 1 PL1/8"X6 7/8" 7 3/8"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M17

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

1
8/

6'
-9

712/

wp3

M17
PLT18/ "X14 14/

712/

738/ 18/

7 67
8/

1
8/

18/
0"



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

8077 30614 1712730

ONE - MAIN BAR FOOTREST - M18

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M18 1 PLT1/8"X14 1/4" 8 5/8"2

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M18

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

712/

2'
-8

5
8/

M18
PLT18/ "X14 14/

738/ 18/

712/

7

1
8/

6
7

8/



738/ 18/

712/

1
8/

6
7

8/7 18/ 3"@1'-0"
0" 3"@1'-0"

3 @ ends TYP.

10
9 16/

M
.O

.

5
5 16/

1'-
0

3 4/
M

.O
.

R 2
'-1

1
1 2/

1
2

12

5 5
16
/

2'-1 1
4/

2'-1 1
4/

5 5
16
/

2'-6 9
16
/

2'-6 9
16
/

5'-1 3
16
/

4'-2 9
16
/

R 3
'-7

3'-034/ 712/

1
3'

-7
1

4/

1 3'-714/

3'-814/

3'
-0

3
4/

71
2/

3'
-8

1
4/

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

8459 30612 345529

4 - MAIN BAR FOOTRESTS - M2

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M2 4 PL1/8"X44 1/4" 8 1/4"3

wp5 4 PLT1/8"X6 7/8" 9 7/8"5

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M2

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

wp5

M2

A - A

A

A

M2
PL18/ "X44 14/

wp5



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

12451 30608 1612754

ONE - MAIN BAR FOOTREST - M21

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M21 1 PLT1/8"X14 1/4" 3 5/8"2

wp3 1 PL1/8"X6 7/8" 7 3/8"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M21

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

2'-358/

18/

71
2/

wp3M21
PLT18/ "X14 14/

67
8/

1
8/

7

712/

738/ 18/

wp3

0"

18/



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

6413 31390 8616740

2 - FIREPLACE PLATES - M23

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M23 2 FL3/8"X5" 0"4

wa31 2 L4X3X3/8 0"4

wa33 2 L1-1/2X1-1/2X1/4 0"4

wp93 4 FL3/8"X5" 4 1/2"1

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M23

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

4

11
2/

3

14/ 3"@1'-0"
14/ 3"@1'-0"

3@ends TYP.

C - C

1
'-4

3
8/

1
8/

1
'-4

1
2/

1
'-4

1
2/

38/

4'-0

38/

38/ 4'-0 38/

4'-034/  (FL38/ X5 x 4'-0")

SIM.

C

C14/
14/

TYP.

0"

14/
TYP.

M23
FB38/ "X5

wa33

wa31

A

A

A

A

w
p9

3w
p9

3

3
8/

1'
-4

3
8/

3

1
'-4

1
2/

1
8/

12/ 4 12/

5

14/
TYP.

14/
TYP.

w
p9

3

wa31

wa33

M23
FB38/ "X5

A - A



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

6875 27514 585447

ONE - MAIN BAR FOOTREST - M25

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M25 1 PLT1/8"X13 7/8" 0"10

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M25

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

45°

45
°

10
'-0

7 (PLT18/ X13 78/  x 10'-0")

7
7

M25
PLT18/ "X13 78/

7

7
1

8/

678/ 18/

7
1

8/



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

13853 34168 5821095

ONE - MAIN BAR FOOTREST - M26

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M26 1 PLT1/8"X13 3/4" 0"10

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M26

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

10'-0

45°

7

7

M26
PLT18/ "X13 34/

1
8/

6
7

8/ 7

678/ 18/

7



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

15831 34168 1821096

ONE - MAIN BAR FOOTREST - M27

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M27 1 PLT1/8"X13 3/4" 1 1/2"3

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M27

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

7

3'-112/

M27
PLT18/ "X13 34/

1
8/

6
7

8/ 7

678/ 18/

7



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

7786 30636 76832

ONE - BENCH FOOTREST - M3

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 01/MAR/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M3 1 FL3/16"X6 1/2" 4 7/16"8

wp132 1 PLT3/16"X8 7/16" 10 1/8"7

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M3

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

A - A

3
16/

6
5

16/

FL316/ X6 12/  x 8'-4716/

45 °
61

2/

6516/

wp132 (N/S)
A

A
M3
FB316/ "X6 12/

8
5

8/

7'-1018/ 6516/

M3
FB316/ "X6 12/

858/

8716/ 316/

3
16/

6
5

16/

61
2/

0"

18/

M3

wp132



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

12353 34163 2121622

ONE - MAIN BAR FOOTREST - M34

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M34 1 PLT1/8"X13 3/4" 4 1/4"3

wp82 1 PL1/8"X6 7/8" 6 7/8"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M34

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

45°

7

18/

3'-414/

7

M34
PLT18/ "X13 34/

wp82 (F/S)

7

1
8/

67
8/

678/ 18/

7

wp82

18/
0"



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

5391 27513 155831

ONE - MAIN BAR FOOTREST - M35

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M35 1 PLT1/8"X13 7/8" 8"2

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M35

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

45°

7

2'
-8

7

M35
PLT18/ "X13 78/

7
1

8/

678/ 18/

7

7
1

8/



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

8355 27510 215979

ONE - MAIN BAR FOOTREST - M37

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M37 1 PLT1/8"X13 7/8" 4 1/2"3

wp83 1 PL1/8"X6 7/8" 7"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M37

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

45°

61516/ 116/

3'
-4

1
2/

1
8/

7 (PLT18/ X13 78/  x 3'-412/ )

6
15

16/

M37
PLT18/ "X13 78/

wp83

7

678/ 18/

1
8/

7

71
8/

wp83

M37
PLT18/ "X13 78/

18/
0"



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

6608 30631 391496

ONE - BENCH FOOTREST - M4

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 01/MAR/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M4 1 FL3/16"X6 1/2" 10"3

wp122 1 PL3/16"X6 5/16" 8 7/16"0

wp133 1 PLT3/16"X8 7/16" 10"3

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M4

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

3
16/

65
16/

3'-10

FL316/ X6 12/  x 3'-10

61
2/

wp133 (F/S) A

A
wp122 (F/S)

M4
FB316/ "X6 12/

85
8/

3'-10

18/
0"

wp122

M4
FB316/ "X6 12/

858/

316/ 8716/

3
16/

65
16/

61
2/

0"

18/

M4

wp133

A - A



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

18418 31157 1-4064

7 - PLATES - M5

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M5 7 FL1/4"X2" 4 1/2"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M5

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:

FL14/ X2 x 412/

2

M5
FB14/ "X2



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

10266 30614 455146

2 - MAIN BAR FOOTRESTS - M9

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

M9 2 PLT1/8"X14 1/4" 3 7/8"7

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
M9

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH - CLEAR POLY COAT

712/

7'
-3

7
8/

M9
PLT18/ "X14 14/

738/ 18/

712/

6
7

8/
1

8/

7



 ALL HOLES ARE 916/ Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

19632 32133 746-5487

ONE - SCREEN WALL - SC1

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

SC1 1 HSS4X2X3/16 10 1/2"6

bp-2 2 FL1/2"X9 1/2" 9 1/2"0

bp-4 1 FL1/2"X8" 8"0

hs18 2 HSS4X2X3/16 2 3/4"3

w16 1 HSS4X4X3/16 6 5/8"12

w55 1 HSS5X5X3/16 6 1/8"12

w64 1 HSS5X5X3/16 9 11/16"12

w102 2 L3X3X3/16 11 1/2"11

w104 2 L3X3X3/16 11 1/2"11

wp48 1 FL1/4"X4" 4"0

wp128 2 FL1/4"X5" 5"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC1

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

3'-714/ 3'-734/

1

7'-3

1 11

w64w55

w16

316/ 0"

3"@2'-0"
316/ 3"@2'-0"

3 @ ends TYP.

w102

w104 w102

w104

B - B
hs18

wp128
SC1
HSS4X2X316/

bp-2

w102

w55

hs18

6
15

16/
2

E
L

9
9

'-2
5

8/

E
L

9
9

'-1
1

16/
E

L
1

1
1

'-1
1

1
2/

1
2

'-8
7

8/

11
'-1

11
2/

2

E
L9

9'
-4

1
8/

1
1

'-1
1

1
2/

1
1

'-1
1

1
2/

1
1

'-7
1

4/

1
2

'-6
5

8/
1

4/

12
'-7

3
8/

1
2

'-1
0

7
16/

134/134/ 134/

212/ 212/

2
1

8/

1
2/

12
'-9

11
16/

1
4/

1
2/

bp-4

wp48

AA

w16

wp128

w104

14/
14/

TYP.

14/
0"

14/ 0"

TYP.

0"

TYP.

BB

bp-2

w64

w102

5
3

8/

1
1

2/

31
16/3

7
8/

2

1
2/

2 2 212/ 212/

3'-434/ 5 3'-514/

3'-714/ 3'-734/

134/

33
4/

T
Y

P
.

23
4/

T
Y

P
.

7'-3

2

2
1

8/

2 6'-1012/ 212/

31
2/

31
2/

31
2/

31
2/

23
4/

23
4/

7'-3

3'-714/ 3'-734/

312/ 312/312/ 312/234/ 234/

14/
TYP.

4 - 916/ "Ø

w64

bp-2

4 - 916/ "Ø

w55

bp-24 - 916/ "Ø

w16

bp-4

A - A



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

13397 36317 5262681

ONE - SCREEN WALL - SC10

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

8-ØX 0 BOLTS W/ N&W

SC10 1 HSS4X2X3/16 7 3/4"3

bp-6 1 FL1/2"X8" 8"0

hs14 1 HSS4X2X3/16 7 3/4"3

hs27 1 HSS4X2X3/16 4 5/16"11

w38 1 L3X3X3/16 6 11/16"7

w41 1 L3X3X3/16 9 1/2"6

w43 1 L3X3X3/16 10 5/8"5

w46 1 L3X3X3/16 1 3/8"5

w56 4 L3X3X1/4 6 1/2"0

w58 1 HSS4X4X3/16 1 1/4"6

w59 1 HSS4X4X3/16 10 9/16"6

w61 1 HSS4X4X3/16 4"5

w62 1 HSS4X4X3/16 11"7

w101 7 L3X3X3/8 3"0

wp48 5 FL1/4"X4" 4"0

wp49 1 FL1/4"X2 1/2" 3 1/2"0

wp70 1 FL1/2"X6 1/2" 8 1/2"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC10

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

wp70

w58w61

A - A

11
2

1
2/

3 3

1
5

w43

w46

bp-6

w101

w56
w56

2
1

2/

1
2

1
2/

12
2

w56
w101

w62

w41 w38
w59

wp48

hs27

14/
TYP.

w58

B - B

1
21

2/

1

0"

w43

w101
wp49

316/ 0"

3"@2'-0"
316/ 3"@2'-0"

3" @ ENDS TYP.

w46
w61

1
2

1
2/

1
2

1
2/

w41

w59

w101 (B/S)

w38
w62

w101 (B/S)

2'
-3

3
4/

312/

5'
-5

3
4/

2'
-4

1
4/

5'-23
8/

1'-53
4/

111116/

312/ 31
2/

33
4/

T
Y

P
.

2
3

4/
T

Y
P

.

1'
-1

01
4/

1'-634/ 312/ 1'-634/

2 3'-734/ 2 2 3'-734/ 2

3'-1134/ 3'-5 3'-1134/

2
1

3 4/

31
2/

312/

11316/

2'-11516/

73
8/

1
4/1
4/

2'
-6

3
4/

5'
-4

3
4/

411'-012/4

1
4/3
4/

2'
-6

1
2/

7'
-1

11
2/

2
2

1
8/

1
3 4/

134/ 134/

21
1

16/

12

11'-1012/  (HSS4X2X316/  x 3'-734/ )

0"

TYP.

w
38

w
46 w

43

wp48

wp49

BB

AA

w58

w61
SC10
HSS4X2X316/

134/

316/
316/

TYP.

316/

bp-6

w101

w56

w101
w56

wp48

134/

7

2'
-0

3
4/

1'
-2

3
4/

w101

w101

w
41

w101

w101

w56
w101

w56

wp70

wp48 wp48
hs14



 ALL HOLES ARE 916/ " Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

11189 36651 4194529

ONE - SCREEN WALL - SC11

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

SC11 1 HSS4X2X3/16 2"14

bp-3 2 FL1/2"X8" 8"0

hs22 3 HSS4X2X3/16 6"4

w19 3 L3X3X3/16 6 3/4"4

w20 3 L3X3X3/16 6 3/4"4

w60 2 HSS4X4X3/16 2 1/4"5

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC11

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

3
3

3 3

14/
TYP.

bp-3

A - A

1 1

316/ 3"@1'-0"
316/ 0" 3"@1'-0"

3 @ ends TYP.w19

w20w60

B - B

hs22

bp-3

w20

w20

w19

hs22

w
60

C - C

4'-6

6

HSS4X2X316/  x 14'-2

4'-10

316/ 0"

316/ 0"

TYP.

316/
316/

TYP.

DD

BB

C

C

AA

hs22 hs22

w60w60

w
19

w19 w20

w
20

1
2/

134/ 134/134/

224'-6

33
4/

T
Y

P
.

23
4/

T
Y

P
.

13
8/

2
1

8/

5'
-4

3
4/

2
4'

-6
3

4/
2

4'
-1

03
4/

4'-8

TYP.

TYP.

hs22

bp-3

SC11
HSS4X2X316/

1
2/

134/134/ 134/

2 2 4'-6

6
4'

-1
03

4/

4'-8

316/
316/

TYP.

0"

316/
TYP.

T
Y

P
.

bp-3

w20

w
19

2
2 11

D - D



 ALL HOLES ARE 916/ Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

17146 32260 512-4065

3 - SCREEN WALLS - SC12

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

SC12 3 HSS4X2X3/16 7 5/16"6

bp-4 6 FL1/2"X8" 8"0

hs20 6 HSS4X2X3/16 1 11/16"3

hs41 3 HSS4X4X3/16 11 1/4"11

hs45 3 HSS4X4X3/16 9 1/2"11

w105 12 L3X3X3/16 5"11

wp48 3 FL1/4"X4" 4"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC12

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

3'-51116/ 3'-31116/

6'-9516/

w105hs41
w105 w105w105

hs45

316/ 0"

3"@2'-0"
316/ 3"@2'-0"

3 @ ends TYP.

B - B

11 11

3

11
'-5

11
'-9

1
2/

6'-7516/

11
'-0

3
4/

3'-11116/

11
'-1

11
4/

E
L

1
1

1
'-1

1
1

2/

1
1

'-5

3'-31116/

6'-9516/

12
'-0

w105

AA
hs20

14/
14/

TYP.

14/
0"

14/ 0"

TYP.

0"

BB

134/

3
2

1
2/

21
8/

2 3'-11116/ 4

2 2

1
2/

E
L

9
9

'-1
1

1
2/

134/134/

3'-51116/

bp-4bp-4
hs20

2

2

21
8/

1
4/

hs
41

w105

w
10

5

hs45SC12
HSS4X2X316/

wp48

2

134/

3
3

4/
T

Y
P

.

2
3

4/
T

Y
P

.

22

w
10

5

234/ 234/

2
3

4/
2

3
4/

2
3

4/
2

3
4/

234/ 234/

3'-51116/

14/
TYP.

bp-4

hs41
hs45

bp-4

4 - 916/ Ø

4 - 916/ Ø

A - A



 ALL HOLES ARE 916/ Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

18471 32203 660-2917

ONE - SCREEN WALL - SC14

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

SC14 1 HSS4X2X3/16 2 1/2"7

bp-4 3 FL1/2"X8" 8"0

hs34 2 HSS4X2X3/16 5 1/4"3

hs63 1 HSS4X4X3/16 4"12

w91 1 HSS4X4X3/16 2 15/16"12

w93 1 HSS4X4X3/16 5 3/8"12

w105 4 L3X3X3/16 5"11

wp48 2 FL1/4"X4" 4"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC14

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

3'-914/

7'-612/

hs63w91
w93

316/ 0"

3"@2'-0"
316/ 3"@2'-0"

3 @ ends TYP.

w105

w105

w105
w105

B - B

11 11

3'-914/

1
2

'-4
15

16/

12
'-5

3
8/

11
'-0

3
4/

12
'-4

3
4/

E
L1

11
'-1

11
2/

3'-514/

7'-212/

1
1

'-5

17
16/

12
'-4

3
4/

12
'-6

1
8/

11
'-5

7'-612/

3'-914/

1
1

'-5

1
2

'-4

2
3

4/
T

Y
P

.

33
4/

T
Y

P
.

AA

BB

bp-4

hs34

wp48

11
16/

E
L9

9'
-6

1
16/

87
16/

1
2/91

8/
2

1
2/

134/

2
1

8/

2 3'-514/ 4

2 2

134/

E
L9

9'
-5

3
8/

3'-914/

134/
bp-4

14/
14/

TYP.

14/
0"

14/ 0"

TYP.

bp-4hs34

1
4/

2
1

8/

2

2

SC14
HSS4X2X316/

w105

w93

wp48

0"

TYP.

w105

w105

w91

E
L9

9'
-6

3
4/

2

1
2/7
3

4/
2

134/

w
10

5

1
4/

2

2 1
4/

hs63

7'-612/

3'-914/ 3'-914/

2
3

4/
23

4/

2
3

4/
23

4/

2
3

4/
23

4/

234/ 234/234/ 234/234/ 234/

14/
TYP.

bp-4

hs63w91

bp-4bp-4

w93

4 - 916/ Ø4 - 916/ Ø4 - 916/ Ø

A - A



 ALL HOLES ARE 916/ Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

19608 31504 520-380

ONE - SCREEN WALL - SC16

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

SC16 1 HSS4X2X3/16 0"7

bp-2 2 FL1/2"X9 1/2" 9 1/2"0

bp-4 1 FL1/2"X8" 8"0

hs29 2 HSS4X2X3/16 3 1/2"3

w53 2 L3X3X3/16 5 1/2"7

w54 2 L3X3X3/16 5 1/2"7

w66 1 HSS4X4X3/16 10 3/8"7

w90 1 HSS5X5X3/16 1 3/8"8

w94 1 HSS5X5X3/16 9 7/8"7

wp48 1 FL1/4"X4" 4"0

wp128 2 FL1/4"X5" 5"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC16

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

11 1

3'-812/ 3'-8

7'-412/

1

w94

w66

w90

w53 w54

316/ 0"

3"@2'-0"
316/ 3"@2'-0"

3 @ ends TYP.

w53

w54

B - B

8'
-0

5
8/

3

7'
-1

11
8/

7'
-9

7
8/

7'
-5

1
2/

7
'-5

1
2/

7'
-0

7
8/

E
L9

9'
-7

9
16/

E
L1

07
'-6

11
16/

5

7'
-1

03
8/

7'
-5

1
2/

7'-9

8
'-1

3
8/

8'
-2

1
8/

3'-6 3'-6

212/ 212/

7'-412/

23
4/

T
Y

P
.

33
4/

T
Y

P
.

AA

0"

TYP.

14/
14/

TYP.

BB

bp-4

wp48

w94

w54wp128

bp-2

w53

w66

hs29

11
2/ 31
8/

1
2/

21
8/

E
L9

9'
-4

9
16/

1
2/

212/ 212/

5 3'-312/

45
8/

2

134/

1
2/

hs29

w53

bp-2

134/

1
4/

21
2/

2 1
4/

212/

SC16
HSS4X2X316/

w54wp128

w
90

1
5

8/
2

E
L9

9'
-6

1
16/

2 2

3'-312/ 4

1
2/

134/

14/
0"

14/ 0"

TYP.

134/

21
4/

2

3'-812/ 3'-8

312/312/

31
2/

3
1

2/

31
2/

3
1

2/

2
3

4/
2

3
4/

312/ 312/ 414/ 114/

w66

w94

4 - 916/ "Øw90

bp-2

4 - 916/ "Ø 4 - 916/ "Ø

bp-4

bp-2

14/
TYP.

A - A



 ALL HOLES ARE 916/ Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

18469 32252 151-4775

ONE - SCREEN WALL - SC2

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

SC2 1 HSS4X2X3/16 4"4

hs19 1 HSS4X2X3/16 4"4

w102 1 L3X3X3/16 11 1/2"11

w104 1 L3X3X3/16 11 1/2"11

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC2

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

1 3

4

1 3

4

SC2
HSS4X2X316/

hs19

w104
GOL 134/ (F/S)

B - B

1
1

'-7
1

4/

1
1

'-1
1

1
2/

E
L1

11
'-1

11
2/

1
2

'-3
1

2/

B

B

AA

hs19

SC2
HSS4X2X316/

w102
21

8/

2

E
L9

9'
-8

3
3

4/
T

Y
P

.

2
3

4/
T

Y
P

.

134/ 134/

2
1

8/

2

3 3

4'-4

w104

4

11

w102
w104

hs19

14/
TYP.

14/
14/

TYP.

A - A



 ALL HOLES ARE 916/ Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

12114 32267 519-2638

ONE - SCREEN WALL - SC3

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

E ISSUED FOR REVIEW/COMMENT/APPROVAL 19/JAN/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

SC3 1 HSS4X2X3/16 2 1/2"7

bp-4 2 FL1/2"X8" 8"0

hs34 2 HSS4X2X3/16 5 1/4"3

hs40 1 HSS4X4X3/16 8 7/8"11

hs42 1 HSS4X4X3/16 9 7/8"11

w105 4 L3X3X3/16 5"11

wp48 1 FL1/4"X4" 4"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC3

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

1

7'-212/

3'-714/ 3'-714/

11

1

134/

hs40
hs42 316/ 0"

3"@2'-0"
316/ 3"@2'-0"

3 @ ends TYP.

w105 w105 w105

w105

B - B

11
'-5

11
'-8

7
8/

E
L

1
1

1
'-1

1
1

2/

E
L

1
0

0
'-0

1
8/

3'-714/

3'-514/

2
3

8/

11
'-1

13
8/

11
'-5

11
'-9

7
8/

3'-714/

7'-212/
1

1
'-1

0
5

8/

11
'-0

3
4/

7'-412/

AA
14/

0"

14/ 0"

TYP.

14/
14/

TYP.

BB

wp48

SC3
HSS4X2X316/

w105

hs40

hs34

1
5

8/
2

1
2/3
4/

E
L

1
0

0
'-0

7
8/

1
2/

2

2 3'-514/ 4

134/

1
2/

3'-914/
2 2

134/

134/

2
1

8/

bp-4

w105

bp-4

w105

hs34

21
4/

2

2
1

8/

0"

hs42

w105

2
3

4/
T

Y
P

.

33
4/

T
Y

P
.

2

134/

2

2
3

4/
2

3
4/

2
3

4/
2

3
4/

3'-914/

114/ 414/ 234/ 234/

4 - 916/ Ø

4 - 916/ Ø
hs40

hs42

bp-4
bp-4

14/
TYP.

A - A



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

11189 36209 5971061

ONE - SCREEN WALL - SC6

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

SC6 1 HSS4X2X3/16 2"14

hs23 1 HSS4X2X3/16 2"14

w48 3 L3X3X1/4 7 1/2"7

w51 2 L3X3X1/4 7 1/2"7

w52 1 L3X3X1/4 7 7/16"7

w57 2 HSS4X4X3/16 7 1/2"7

w101 12 L3X3X3/8 3"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC6

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

1
2

1
2/

1
2

1
2/

2
1

2/
1

44

134/134/

1

134/ 134/

4 4

1 1
2

1
2/

 ALL HOLES ARE 916/ " Ø U.N.O.

w101

w48
316/ 0"

3"@1'-0"
316/ 3"@1'-0"

3 @ ends TYP.

14/
TYP.

w101

w57w57
w48

w52

A - A

2'
-0

3
4/

2
1

1
2/

3
1

2/

w101

w101

w101

w101

w
57

hs23

C - C

3
3

4/
T

Y
P

.

23
4/

T
Y

P
.

7'
-7

1
2/

7'
-1

11
2/

4'-10

4'-6

7'
-1

11
2/

21
16/

14'-2 (HSS4X2X316/  x 14'-2")

316/
316/

TYP.

316/ 0"

316/ 0"

TYP.

0"

316/
TYP.

BB

AA

SC6
HSS4X2X316/

w
52

w51

w51

w48

w
48

w
48

w57

w57
hs2311

2/
2'

-0
3

4/

4'-8

4'-6

TYP. TYP.w101

w101

w101
w101

w101
w1012

3
16/

2

134/

2 2

134/134/

2

316/
316/

TYP.

1
1

2/
1

1
2/

T
Y

P
.

2 2

4'-8

134/134/ 134/

4'-6
C

C

T
Y

P
.

w101

w101

w101 w101

w101

w101

21
2/

2
2

1 1

w48

w52

B - B



 ALL HOLES ARE 916/ " Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

8979 36377 5882696

ONE - SCREEN WALL - SC8

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

10-ØX 0 BOLTS W/ N&W

SC8 1 HSS4X2X3/16 0 1/2"11

bp-6 1 FL1/2"X8" 8"0

hs27 1 HSS4X2X3/16 4 5/16"11

w17 1 L3X3X3/16 10"6

w18 1 L3X3X3/16 11 11/16"5

w37 1 L3X3X3/16 6 11/16"7

w40 1 L3X3X3/16 8 3/8"6

w42 1 L3X3X3/16 10 1/8"5

w45 1 L3X3X3/16 1 3/8"5

w56 5 L3X3X1/4 6 1/2"0

w61 1 HSS4X4X3/16 4"5

w62 1 HSS4X4X3/16 11"7

w63 1 HSS4X4X3/16 11"5

w65 1 HSS4X4X3/16 9 5/16"6

w101 6 L3X3X3/8 3"0

wp48 3 FL1/4"X4" 4"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC8

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

2
1

2/

2
1

2/
1

2
21

5

2
2

11111

33

316/
TYP.

hs27

w65

w40

A - A

316/ 0"

3"@2'-0"
316/ 3"@2'-0"

3 @ ends TYP.

w63
w61

w42
w18bp-6 w45

w101
w101

w62
w17

w37

wp48
w101 (B/S)

w101 (B/S)
5- w56

2 2

212/ 1

w101

w18

14/
TYP.

hs27

w
63

C - C

2
11

16/

12

2'
-1

5
8/

738/
2'-11516/

2'-81516/ 3'-23
8/

1'-812/
113

16/

2'
-4

1
4/

1'
-3

5
16/

3
4/

2'
-6

1
2/

134/134/134/134/ 134/ 134/

1
3 4/

2
1

8/
2

2
1

3 4/

312/

31
2/

31
2/

31
2/

222 22 3'-512/ 3'-512/ 3'-512/ 2

3'-912/ 3'-912/ 3'-912/

1
4/1
4/

7'
-1

11
2/

2'
-6

3
4/

5'
-4

3
4/

11'-812/  (HSS4X2X316/  x 11'-012/ )

11'-012/

316/
316/

TYP.

w62

w
40

w
42

w
45

w
37

AA

C

C

hs27

w65

w63 w
17

w18

w61

SC8
HSS4X2X316/

4

316/
316/

TYP.

316/

w101

w101

bp-6

wp48

4

1
4/

wp48

2- w101 2- w101

5- w56

316/
0"

TYP.

316/ 0"

316/ 0"

TYP. 0"

TYP.

wp48



 ALL HOLES ARE 916/ " Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

13401 36440 1862767

ONE - SCREEN WALL - SC9

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

4-ØX 0 BOLTS W/ N&W

SC9 1 HSS4X2X3/16 0"3

hs24 1 HSS4X2X3/16 9 1/4"6

hs25 1 HSS4X2X3/16 1 1/8"6

hs26 1 HSS4X2X3/16 0 15/16"3

w39 1 L3X3X3/16 4 3/4"6

w44 1 L3X3X3/16 10 3/16"5

w56 2 L3X3X1/4 6 1/2"0

wp47 3 SELF CLOSING HINGE 6"0

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
SC9

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH-CLEAR COAT

11

2
2

wp47

w39

w56w56w44 hs24

hs26

hs25

A - A

11

178/

316/ 0"

3"@2'-0"
316/ 3"@2'-0"

3 @ ends TYP.

w44
w39 wp47

hs24

B - B

2
1

3 4/

2
3

8/

312/

31
2/

15
8/

5'
-9

1
2/

2

3
3

4/
ty

p.

23
4/

ty
p.

2
1

8/

9916/

1
2

9
9

16/

12

2
11

16/

12

7
1

4/
2'

-9
1

2/
2'

-9
1

2/
7

2 2'-8 2

HSS4X2X316/  x 3'-0

6'
-9

1
4/

8
1

8/
6'

-1
1

8/
12

1
2

12

1
2

77
16/

1'-5
1'-01

2/

0"

0"

TYP.

0"

316/
TYP.

0"

316/
TYP. wp47

2- w56

wp47

w
39

wp47

BB

AA
hs26

hs24

hs25

w
44

SC9
HSS4X2X316/



 ALL HOLES ARE 1316/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ONE - STAIR FRAME - ST1

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 
RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE
OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

16-ØX 0 BOLTS W/ N&W

ST1 1 MC12X10.6 5"9

ch2 1 MC12X10.6 1"4

ch6 1 MC12X10.6 5"9

ch7 1 MC12X10.6 3 5/16"7

ch8 1 MC12X10.6 3 3/8"7

ch11 3 MC6X6.5 10"3

wa5 1 L2X2X3/16 5 1/2"3

wa6 2 L2X2X3/16 5"0

wa7 4 L2X2X3/16 9 7/8"2

wa12 2 L2X2X3/16 9 1/8"2

wp9 1 PL1/4"X1 3/8" 8"3

wp11 2 PL1/4"X1 3/8" 11 3/8"0

wp14 2 FL1/2"X7" 8 1/2"0

wp15 2 FL1/2"X7" 7"0

wp50 1 FL3/8"X1 1/2" 4 3/4"0

wp51 2 FL3/8"X1 1/2" 3 1/2"0

wp53 2 FL3/8"X1 1/2" 8 1/2"0

wp56 1 FL3/8"X1 1/2" 1 7/8"0

wp97 4 PL3/8"X10 3/4" 11"0

wp99 1 FL3/8"X10" 3"1

wp100 1 PL3/8"X12 3/4" 3"1

A307 3/8"Ø24 1"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
ST1

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

20250 33807 50821280

5@1'-1
1 16/ =5'-5

3 16/

5@1'-1
1 16/ =5'-5

3 16/

1'-11

3'-0

4'-1 1
16
/

31 16/

4

5@1'-1
1 16/ =5'-5

3 16/

234/ 4'-7

5'-1118/

15'-418/

2
'-1

14
'-9

3 9
16
/

11 4/

11
3 16/

7'-3
5 16/

wp97

wp97

ch11

wa5

ch2ST1
MC12X10.6

wa7

wa12

wp15

wa7

ch11ch11wp14

wa6

12- 716/ "Ø

wp51

wp53

ch7

91
5 16/

9 15
16
/

RD

41 2/

8
3

1
2/

1
4/

91
4/

3 3
4/

38/ 378/

wp51

7
5

8/

12

1'-0
3 16/

5'-2 1
16
/

6'-3 1
8/

1'-6
1 8/

312/ 438/

1'-138/ 2 3'-0 3'-034/ 3'-214/

7
'-1

01
1

16/

1
'-8

1
16/

3
'-2

RD

6
'-2

3
4/

5
3

16/

1
'-5

3
16/

9'-312/ 112/

3
'-4

3
8/

6
'-5

1
8/

1
'-0

3
4/

312/

53
16/

12

12

12

12

1'
-5

3
1

6
/

3

3

7 5
16
/

31 2/

51
2/

1 1
2/

51
2/

2'-6 1
8/

1'-5 1
16
/

3'-7 1
8/

4'-8 3
16
/

5'-9 1
4/

B - B

3'-0

15'-418/

wa12

B B

A A

wp14

wa6

wa6

13
4/

2
1

2/
2

1
2/

13
4/

158/212/

158/212/

6'-118/

5
1

2/
5

1
2/

11
4/

11
4/

318/

714/

714/

318/

3
'-1

0

278/

278/

158/

ch7

ST1
MC12X10.6

wp50

wp53

wp100

wp53

wp51

D

D

ch11

ch8

wp56

wp51

wp14

212/134/

2
1

2/
13

4/

3'-034/ 3'-034/

11
4/

114/

114/

5
1

2/

512/

5
1

2/

11
4/

414/ 234/

12

12

wp11

wp97

wp99

wp97

wp97

wp97

ch2

wp11

wa7wa7wa12

wa7

wa7

C

C

0"

0"

TYP.

14/
0"

TYP.

ch
11

ch
11

ch6

wp15

w
a5

wp15

wp9

13
4/

2
1

2/

212/134/

91
5 16/

5@1'-1
1 16/ =5'-5

3 16/

41 16/

38/ 178/

9 15
16
/

RD

1'-11

1'-5 1
16
/21

5 16/

41 2/

8

4
'-9

9
1

4/

7'-3
3 8/

wp56

ch8

14/
14/

TYP. 12- 716/ "Ø

wp14

wa12

wa7 wp9

wa7

wa5

ch6

wa6

wp50

wp11
ch11

ch11 ch11wp11

ch2

wp53

5'-378/

3'-0

7
'-1

0
11

16/

1
'-8

1
16/

9'-5

3'-0 1
16
/

4'-1 1
16
/

5'-2 1
8/

6'-3 1
8/

2'-6 1
8/

3'-7 3
16
/

4'-8 3
16
/

5'-9 1
4/

3
'-4

3
8/

6
'-5

1
8/

3
'-2

RD

6
'-2

3
4/

9
'-3

1
2/

53
16/

53
16/

12

12

12

12

1'
-5

3
1

6
/

3

3

21 2/

31 2/

312/

51
2/4

51
2/

15'-218/

43
4/

1
4/

2
'-1

1
1

'-0
3

4/

14/
14/

3 SIDES TYP.

14/
14/

TYP.

14/ 3"@2'-0"
0" 3"@2'-0"

3 @ ends TYP.

14/ 3"@2'-0"
14/ 3"@2'-0"

3 @ ends TYP.

14/
TYP.

wp97
wp97

14/
TYP.

wp15

A - A

7
5

8/

12

34/ 4'-7 1'-138/

312/ 438/

2

1'-0
3 16/

5@1'-1
1 16/ =5'-5

3 16/

1'-6
1 8/

7 5
16
/

3 9
16
/

3 3
4/

5'-918/

3'-8 518/

3'-034/ 3'-214/

1'
-5

3
16/

12

12

12

12

1'
-7

7
8/

RD 914/ 2'
-5

1
8/

4'-1

112/ 3'-10 112/

3
5

8/

51
2/

1
'-3

5
8/

3

3

112/ 112/

4'-1

wp9

wa7

wp99
wp97wp97

14/ TYP.ST1
MC12X10.6

wp11

ch6wp15

ch2

wp15

wa7

wa5

C - C

914/ 2'
-3

5
8/

51
2/

10
5

8/

3

112/ 112/

1
2/1
2/

3'-10

4'-1

14/

14/

wp97
wp97

wp100

wa12
wa6

ch7

wa12
wa6

ch8

ch6

wp14
wp14

ch11

D - D

12

12

1'
-6

3
8/

RD

4
5

8/ 3

12

12



 ALL HOLES ARE 1316/ "Ø U.N.O.

T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

ONE - STAIR FRAME - ST2

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 
RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE
OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

16-ØX 0 BOLTS W/ N&W

ST2 1 MC12X10.6 3"4

ch1 1 MC6X6.5 9 7/8"3

ch4 1 MC12X10.6 1"4

ch9 1 MC12X10.6 11"13

ch10 1 MC12X10.6 1 7/16"14

ch12 1 MC6X6.5 11 3/4"3

wa3 2 L3X3X3/16 5"0

wa4 2 L2X2X3/16 6 1/2"0

wa8 1 L2X2X3/16 7 1/4"3

wa9 1 L2X2X3/16 7 1/2"3

wp8 2 FL1/4"X1 1/2" 7 1/4"0

wp13 1 FL1/2"X8" 8"0

wp15 2 FL1/2"X7" 7"0

wp17 1 PL3/8"X13 3/8" 2 3/4"1

wp45 1 PL3/8"X11 1/4" 2 3/4"1

wp52 1 FL3/8"X1 1/2" 0"1

wp54 1 FL3/8"X1 1/2" 3 1/2"0

wp55 1 PL3/8"X1 7/8" 0"1

wp61 1 FL1/2"X7" 8"0

wp100 1 PL3/8"X12 3/4" 3"1

wp101 1 FL3/8"X10 1/2" 3"1

A307 3/8"Ø48 1"

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
ST2

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

19110 32162 45624569

113 8/

11@1'-1
1 16/ =11'-1

17 16/

63 8/

1'
-7

1
4/

5

14/

7
'-1

1

37 8/

5
1

2/

33

12

12

12

12

9

1'
-0

3
4/

11
@

7=
6'

-5
51

4/

15'-812/

12'-4 7
8/

11'-3 13
16
/

9'-1 3
4/

8'-0 3
4/

5'-10 5
8/

4'-9 5
8/

3'-8 9
16
/

2'-7 9
16
/

1'-6 1
2/

11'-9 3
4/

10'-8 11
16
/

8'-6 5
8/

7'-5 9
16
/

6'-4 9
16
/

5'-3 1
2/

4'-2 1
2/

3'-1 7
16
/

2'-0 3
8/

RD

75
8/

12

12'-10 13
16
/

9'-7 11
16
/

10'-2 13
16
/

6'-11 11
16
/

81
5 16/

11'-478/ 334/ 3'-1178/

7
'-3

1
8/

3
8/

31 8/

312/

658/ 38/ 3'-10 112/

14'-1
7 16/

1'-8
9 16/

wp17

ch4

wp52

wp15

wp55

wa9

wp54

wp13

ch12

ch10

ch1

wa4

24 - 716/ "Ø

A - A

71
2/

3 9
16
/

7 5
16
/

57 16/

11@1'-1
1 16/ =11'-1

17 16/

71
4/

wa3

wp8

1
2/1
2/

2'
-4

1
4/

RD

5
1

4/
5

1
2/

11
1

4/

1'-2
11 16/

14/
TYP.

14/

11'-914/

15'-834/

B B

A A

514/

514/

212/ 212/

212/ 212/

11
2/

1
1

2/

3'
-1

0

wp8

wp8

1 - 78/ "Ø

1 - 78/ "Ø

wa3

wa3

3'-1112/

21
2/

1
3

4/

1
3

4/
2

1
2/

3'
-1

1
7

8/

3
1

8/

2
1

4/

1
1

4/

1
1

4/ 2
1

2/

5
1

2/

114/

1
1

4/

212/

212/

12

12

14/
TYP.

wp17

wp100

wp45

wp101

wp55

wp54

wa4

ch10

ST2
MC12X10.6

wp52
ch1

D

D

C

C

0"

14/
TYP.

0"

0"

TYP.

wp13

ch4

w
a9

wp15

ch12

wa4
wp61

wa8
wp15

112/212/3

7

112/212/3

7

7
3

8/

5
1

2/

114/

212/

7

212/134/

21
2/

13
4/

73
8/

7

81
5 16/

9'-7 11
16
/

113 8/

11@1'-1
1 16/ =11'-1

17 16/

1'-0
3 16/

2'-0 3
8/

RD

3'-1 7
16
/

4'-2 1
2/

5'-3 1
2/

6'-4 9
16
/

7'-5 9
16
/

8'-6 5
8/

10'-8 11
16
/

11'-9 3
4/

1'-6 1
2/

2'-7 9
16
/

3'-8 9
16
/

4'-9 5
8/

5'-10 5
8/

8'-0 3
4/

9'-1 3
4/

11'-3 13
16
/

12'-4 7
8/

11'-512/ 4'-3

15'-812/

51
4/

11
@

7=
6'

-5
1'

-0
3

4/

9

1'
-4

3
4/

12

12

12

12

3 3

534/

5
1

2/

37 8/

7
'-1

1

14/

5

7
'-3

1
2/

4'-112/ 112/

10'-2 13
16
/

13'-1
1

wa3

wa4

wa8

wp61

ch12 ch4

wp15

14/
14/

TYP.

0"

14/
TYP.

14/
3 SIDES TYP.

24 - 716/ "Ø

ST2
MC12X10.6

wp8

ch9

wa9

B - B
71

2/

3 9
16
/

7 5
16
/

71
4/

6'-11 11
16
/

75
8/

12
57 16/

11@1'-1
1 16/ =11'-1

17 16/

1'
-1

0
3

4/

2'
-7

3
4/

RD

312/

312/ 312/

43
4/

5
1

2/

12'-10 13
16
/

31 2/1'-6
1 8/

14/ 3"@2'-0"
14/ 3"@2'-0"

3 @ ends TYP.

wp45

1'
-4

1
8/

10
5

8/
5

1
2/

3'-1178/

3'-10 178/

914/

2'
-3

5
8/

12

12

12

12

4
5

8/

1'
-6

3
8/

RD

33 1
2/1
2/

14/

14/
wp54

wp13

wp61

ST2
MC12X10.6

ch9

wa4

wa8 ch12

wp55

wa4

ch1

C - C

2'
-5

1
8/

1'
-7

7
8/

RD

914/

4
1

8/
51

2/

4'-138/

4'-1 38/

334/

12

12

1'
-4

1
8/

33

14/ wp52

ch1

wp15

wa8

wp15

wa9
ch4

D - D



T
ek

la
 s

tr
uc

tu
re

s

SHOP NOTES:
1.) WIDE FLG. MAT'L ASTM A992 GR.50 U.N.; OTHER MAT'L ASTM A36 U.N.; PIPE MAT'L A53, GRADE B U.N.;

SQ. HSS MAT'L ASTM A500 GR.B U.N.
2.) HOLES 13/16"Ø TYP. U.N.O. FIELD BOLTS ARE 3/4"Ø-N TYPE 1 U.N.O
3.) SHOP BOLTS AT CONNECTION ANGLES ARE 3/4" PRE-TENSION ASTM F1852 TWIST OFF TENSION CONTROL TYPE

4.) 13/16"ØX1"  SLOTS PARALLEL WITH O.S. LEG IN ALL ANGLES MARKED WITH b,k, OR m
5.) A.W.S. QUALIFIED WELDERS REQ'D (E70 ELECTRODES/FILLER METAL) (SMAW-FCAW-GMAW PROCESSES)
6.) ULTRANSONIC TESTING REQUIRED ON ALL FULL PENETRATION WELDS. (BY INDEPENDENT LAB.)

20244 33839 1622427

18 - STAIR TREADS - ST3

ALL VERIFICATION REQUESTS ON THIS SET OF DRAWINGS WILL BE ASSUMED CORRECT AS SHOWN UNLESS

OTHERWISE NOTED. WHERE FABRICATOR HAS REQUESTED INFORMATION TO BE PROVIDED, CONTRACTOR IS 

RESPONSIBLE TO COORDINATE WITH TRADES, ARCHITECT AND ENGINEER AS REQ'D TO COMPLETE
VERIFICATION REQUESTS, OR STEEL DELIVERY MAY BE DELAYED. ANY REFABRICATION COST DO TO INCOMPLETE

OR INACCURATE VERIFICATION RESPONSES WILL BE BILLED AS EXTRA TO THE GENERAL CONTRACTOR.

0 ISSUED FOR FABRICATION 08/FEB/2016

REV DESCRIPTION DATE

SHAPESHIP
SEQ

1

2

3

6

5

4

9

8

7

10

11

12

13

14

15

16

17

18

19

20

21

22

23

24

25

26

27

28

TOTAL FIELD BOLTS IN THIS SHEET

BILL OF MATERIALS

SHIP MARK DESCRIPTION
LENGTH

FEET INCH
REMARKSQUANSHOP MARK

ST3 18 GRTG1 1/4"X12 1/8" 9 5/8"3

wp156 36 FL3/16"X2 1/2" 0 1/8"1

DRAWN

JOB No.

SH.No..

BLVD PUB & GRUB

BLVD
ST3

DATE

PROJECT:

LOCATION:

ENGINEER:

CONTRACTOR:

WEST FARGO ND
CHRIS HAWLEY ARCHITECTS

ISSUED FOR:
APPROVAL

DATE

RESUBMITTAL

PURCHASING

FABRICATION

JOB USE

REPRODUCTION OR FABRICATION FROM THIS DRAWING IS NOT PERMITTED WITHOUT WRITTEN PERMISSION FROM 

NO BACK CHARGES ACCEPTED WITHOUT WRITTEN APPROVAL FROM 

.

.

FINISH NOTE:
MILL FINISH w/ CLEAR POLY COAT

316/ 3'-958/ 316/

3'-10 (GRTG1 14/ X12 18/  x 3'-958/ )

1'
-0

1
8/

A

A

SIM.

wp156

wp156

ST3
GRTG1 14/ "X12 18/

A

A

212/

7
4

134/

316/
0"

TYP.

0"

0"

TYP.

716/ "Ø

(1 716/ "x716/ ") SLOTS

w
p1

56

A - A


	BR1 - BRACE ANGLE - Rev 0
	BR2 - BRACE ANGLE - Rev 0
	BR3 - BRACE ANGLE - Rev 0
	C1 - COLUMN - Rev 0
	C11 - POST - Rev E
	C12 - POST - Rev E
	C2 - COLUMN - Rev 0
	C3 - COLUMN - Rev 0
	C4 - COLUMN - Rev 0
	C5 - COLUMN - Rev 0
	C6 - COLUMN - Rev 0
	C7 - COLUMN - Rev 0
	C8 - COLUMN - Rev 0
	D1 - DRINK RAIL SUPPORT - Rev E
	GR1 - GRATING - Rev 0
	GR2 - GRATING - Rev 0
	GR3 - GRATING - Rev 0
	GR4 - GRATING - Rev 0
	GT1 - PATIO GATE - Rev E
	HR1 - GUARDRAIL - Rev B
	HR10 - GUARDRAIL - Rev 1
	HR11 - GUARDRAIL - Rev 1
	HR12 - GUARDRAIL - Rev 1
	HR13 - GUARDRAIL - Rev 1
	HR14 - GUARDRAIL - Rev 1
	HR15 - GUARDRAIL - Rev 0
	HR16 - GUARDRAIL - Rev 0
	HR17 - GUARDRAIL - Rev 1
	HR18 - GUARDRAIL - Rev E
	HR19 - GUARDRAIL - Rev E
	HR2 - GUARDRAIL - Rev 0
	HR20 - GUARDRAIL - Rev E
	HR21 - GUARDRAIL - Rev E
	HR3 - GUARDRAIL - Rev 0
	HR4 - GUARDRAIL - Rev 0
	HR5 - GUARDRAIL - Rev 0
	HR6 - GUARDRAIL - Rev 1
	HR7 - GUARDRAIL - Rev 1
	HR8 - GUARDRAIL - Rev 1
	HR9 - GUARDRAIL - Rev 1
	LD1 - LADDER - Rev 0
	M1 - FOOTREST - Rev 0
	M14 - FOOTREST - Rev E
	M17 - FOOTREST - Rev E
	M18 - FOOTREST - Rev E
	M2 - FOOTREST
	M21 - FOOTREST - Rev E
	M23 - FIREPLACE - Rev E
	M25 - FOOTREST - Rev E
	M26 - FOOTREST - Rev E
	M27 - FOOTREST - Rev E
	M3 - FOOTREST - Rev 0
	M34 - FOOTREST - Rev E
	M35 - FOOTREST - Rev E
	M37 - FOOTREST - Rev E
	M4 - FOOTREST - Rev 0
	M5 - PLATE
	M9 - FOOTREST - Rev E
	SC1 - SCREEN WALL - Rev E
	SC10 - SCREEN WALL - Rev 0
	SC11 - SCREEN WALL - Rev 0
	SC12 - SCREEN WALL - Rev E
	SC14 - SCREEN WALL - Rev E
	SC16 - SCREEN WALL - Rev E
	SC2 - SCREEN WALL
	SC3 - SCREEN WALL - Rev E
	SC6 - SCREEN WALL - Rev 0
	SC8 - SCREEN WALL - Rev 0
	SC9 - SCREEN WALL - Rev 0
	ST1 - STAIR FRAME - Rev 0
	ST2 - STAIR FRAME - Rev 0
	ST3 - STAIR TREAD - Rev 0

